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1- A single-parent family is at greater risk for such negative outcomes as decline in income,

poverty, and behavioral problems. Most single parents find it difficult to meet all their

financial duties. A decrease in income may require them to move the family to a less

expensive home in a different neighborhood, transfer the children from one school to another,
and spend less money on goods.

The word ""them" in this paragraph refers to :

a) duties b) problems C) single parents d) negative outcomes
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This is also a good time to educate your kid. For example, “Bananas grow on trees. What
else can you think of that grows on trees?” or “All fruits have a skins or covers on them to
protect them from rain and bugs.”

2. the word “them” in line 2 refers to .................. .
a) trees b) skins c) bananas d) fruits
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3- Education involves both learning and teaching. Sometimes, people learn by teaching themselves.

But they also learn with the help of other people such as parents or teachers. Parents are the child’s

first and perhaps most important teachers. But few people have either the time or the ability to teach
their children everything that they need to know.

The word “they” in line 4 refers to :

a) people b) teachers C) parents d) children
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4 - Practice your speech in front of a mirror to check your way of presentation and body movements
and change them if necessary.

The word “them” refers to ......
a) way of presentation b) body movements
C) speech d) way of presentation and body movements

5 - Sometimes we can see a satellite in the sky and it seems to stay in the same place. This is because

it is moving around the world at 11,000 kilometers an hour exactly the same speed that the earth rotates.

The word “this” refers to :
a) seeing a satellite in the sky b) moving around the world

c) satellites which seem to stay in the same place  d) having the same speed as the Earth

6- Life for women has changed, but in some places, it is the same as it used to be 100 years ago.
The pronoun “it” refers to --------------------- :
a) life b) women c) places d) years
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1- The test was so tough that no one passed it. "tough" means ---------------- :
a) easy b) long c) short d) difficult

2- Doctors, scientist and health_experts are worried about the new problem. “experts” means -------- .
a) people who live a long time b) students studying at school
c) people who know a lot about a subject d) students who are usually sick

3- My statements, my apologies, and the rest of my utterances were useless.
“utterances” is closest in meaning to ------------------ :
a) friends b) clothes c) words d) occasions
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1- After vaccination, you are immune to the disease for a number of years.

2- | wrote my name in the sand, but the next wave obliterated it.

ol gam e Lol (0 (59, 2 1) ol pidgi 050
“obliterated” means : “removed, destroyed or caused to disappear”
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In other words, That is, That is to say,

I.e. (id est.) or L/ o= [ Noolew
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Which of the following words or phrases is restated in the passage?

1- Boys brag, in other words, they say good things about themselves.

2- Lots of people are ignorant of the effect that education can have on their life. That is, they

don’t seem to know its influence.

5- Mr. Brown was not really ill, he was just a hypochondria. That is to say, he was always

ready to imagine that he was suffering from serious diseases

8- Over the longer periods of time, the earth’s surface has been both cooler during the Glacials

(Ice Ages) and warmer during Interglacial (some periods between the Ice Ages).

9- These people believe that life would be better in the suburbs, that is, the areas just outside
the city.
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"ol Ja" 15)910,8 9 Cadli " Cdlae )" i dy (3 6K5ewl (Sl yERl) 1epd duds 99 9SS (S ae> 7




1- While factory owners are usually wealthy, the workers are poor.

7- Last summer there was a drought, yet some people were still watering their lawns
every day. 8-On the one hand we have plenty of time, on the other hand, our resources

are limited.

9- The modern umbrella can collapse and become shorter or extend and become longer.
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1- Everything we know about early humans such as Neanderthals is based on fossils.
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2- The street is crowded with conveyances, such as buses, bicycles and cars.

4- By fourth day, he was hallucinating. For instance, when he saw a street sign, he
thought it was a person.

5- The air was full of pollutants: chemicals, bacteria, smoke and gases.

6- You'll need a variety of skills, including leadership and negotiating.

8- Citrus fruits, e.g. oranges, lemon and grapefruit are a very good source of vitamin C.

'Syol—e OL) 3 sola—iwl -7

1- Earthquake prediction may someday become a reality, but only after much more is learned
about earthquake mechanisms.

(mechanisms = system / structure)

2- Fix heavy things strongly to walls (bookshelves, mirrors, cabinets etc.)

( cabinets = cupboard)

3- The government has no long-term strategy for reducing crime.

(strategy = plan, program)

4- Ellison is now head of the Department of Education.

(department =a group of people in an organization)

5- She suffered some minor injuries in the accident.

(minor = small, not serious)
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6- Heat Kills, or delay the action of certain bacteria and parasites that may be in the food.

bacteria = s

/- She felt it and discovered that it was very soft and stretchy.

(stretchy = flexible, elastic)
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1- The energy inside the Earth is unimaginable.

(un-imagin-able)

2- Her friends know her to be an argumentative girl.

(argu -ment-ative)

3- Okinawans have the highest life expectancy for both men and women over 65.

(expect-ancy)

4- 1t is believed that an earthquake anteceded the fire. “anteceded” means ..........
(ante-ced-ed)

a) caused b) happened after ¢) happened before d) extinguish

5- The distinction or difference between leisure and unavoidable activities is not a rigidly

defined one.

(un-avoid-able = impossible to prevent)  (a¥ = ;905 %)

6- A best friend gives you unconditional love. That means complete love, without any limits.

(un-condition-al) (A 525 %0 )

7- Children learn to talk formally and respectfully to adults and informally to their friends.
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1. If global warming continues, many regions of the world will become drier while
others may become wetter.

1) wonders 2) areas 3) examples 4) forests
ol Son &S Jl> j0 b aslys 5 Sias ol TEOIONS 51 6 lows sl aslsl Slo> iole,5 51" 1Y oy yod Zemly
g 5 ogb e auy
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2. On the basis of their examination results, it is obvious that most students completely
misunderstood the first part of the exam.

1) clear 2) interesting 3) difficult 4) exact
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3. The North Americans consume more energy and resources than any other nation.
1) hold 2) give 3) make 4) use
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The word / phrase X means ------------------- :
The word / phrase X is closest in meaning t0 ----------------- :
The word / phrase X could best be replaced by ----------eeeeee——- :
What is the meaning of the word or phrase “x” in Line “y”?
The word or phrase “x” in Line “y” means -----------====m=nn--
The word or phrase “x” in Line “y” is closest in meaning t0------------------
The word or phrase “x” in Line “y” could be replaced by-------------—--—---

The word or phrase “x” in Line “y is the synonym of ----------—-emeeev-
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A swiss described a pencil in a book in 1565. He said it was a piece of wood with lead
inside it. (Lead is a very heavy, soft, dark grey metal.)
Gy ol B 4 cll ooz a5 CiS gl 0,8 dogs oS G o ) g0l 1565 ¢ JLs o oSy SO 1o g
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Studies show that rapid increase in population growth creates problems for developing
countries. So why don’t people have fewer Children? The information collected from the
developed countries suggests that it is only when people's living standards begin to rise that birth
rates begin to fall. There are good reasons for this. Poor countries cannot afford social and old
age pensions - the money they get from the government when they become old and can't
work - and people's incomes are so low they have nothing to save for the future.

For which of the following has the writer given a definition?
1) Pension 2) insurance 3) Family Planning 4)Population increase
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There is concern over the fact that many animals and plants are in danger of dying out, or
becoming extinct.
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This library is only open to adults, i.e. people over 18.
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Economy is the system of trade and industry by which the wealth of a country is made and
used.
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Digital cameras use a light sensitive chip, instead of film, and store pictures as digital image
files that can be transferred to a computer.
1. what does the word “store” in line 1 mean?
a) Join b) show C) save d) provide
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1- Hypoxia is an illness caused by a shortage of oxygen in the body.

2- Archeology means the scientific study of ancient cultures through the examination of their
material remains such as buildings, graves, tools, and other artifacts usually dug up from the
ground.
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3- Curriculum refers to the subjects that are given or taught in a school, college, university,
etc; the regular or a particular course of study in a school, college, university.

4- A farmer in England used chicken manure — waste matter from animals that is mixed with
soil to improve the soil — to power his car. The car worked but the smell was terrible!
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Which of the following words or phrases is defined in the passage?
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Which of the following words or phrases is not defined in the passage?

All of the following words or phrases are defined in the passage, EXCEPT ------------- :
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Dolphins are highly social animals, often living in pods of up to a dozen individuals,
though pod sizes and structures vary greatly between species and locations. In places with
a high abundance of food, pods can go together temporarily, forming a super pod; such groupings
may go beyond 1000 dolphins. Membership in pods is not rigid; interchange is common.
Dolphins can, however, have strong social relations; they will stay with injured or ill individuals,
even helping them to breathe by bringing them to the surface if needed. This altruism does not
appear to be limited to their own species.

The dolphin Moco in New Zealand has been observed guiding a female Pygmy Sperm Whale
together with her baby out of shallow water where they had stranded several times. They have
also been seen protecting swimmers from sharks by swimming circles around the swimmers or
attacking the sharks to make them go away.

What is the best title for the passage?
1) Dolphins: Highly Intelligent 2) Humans and Dolphins
3) The Most Playful Animal 4) Social Behavior of Dolphins
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The idea of being employed, or working in exchange for money paid as salary or wages, is a relatively
recent one. It starred fully with the industrial Revocation in the 1760s. Thousands of years before then,
when primitive tribes wandered the Earth, everyone — man, woman, and child — worked just to survive,
by hunting, gathering food, making clothes, cooking, looking after babies, and handling the houses.

When the first civilizations developed, a form of employment was force on people without their
choice. It was called slavery. Slavery were not paid for their work, and were vital to the economy of
early civilizations such as ancient Egypt and Greece. In later centuries Slaves played a key role in the
economy of European overseas colonies from the 16th century onwards, as well as in the cotton
economy of the southern United States up to the American Civil War in 1861. Slaves were forced to
work at anything their masters ordered them to, be it field work, housekeeping, or road building. Slaves
were often worked till they dropped dead, and were beaten if they refused to work.

Another form of employment called farming emerged in the Middle Ages in Europe. Farmers were
employed by lords to work the land for the lords’ benefit. In return they received shelter and a Small
Plot to farm for themselves. They could not Leaves the lord’s estate nor change their employment if
they wanted to. Like were not paid money in return for their labour.

What does the passage mainly discuss?

a) the industrial Revolution b) what makes scientists confused?
c) the history of the world d) the history of employment
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The idea of being employed, or working in exchange for money paid as salary or wages, is a
relatively recent one.
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When the first civilizations developed, a form of employment was force on people without their
choice.
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Another form of employment called farming emerged in the Middle Ages in Europe.
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The passage is means about
What is passage mainly about?
What does the passage mainly discuss?
The passage mainly deals with
What is the best title / subject for the passage?
Which of the following is the best topic for the passage?
What is the main idea of the passage?
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What does paragraph 1,2,3, ... mainly discuss?
What is paragraph 1,2,3, ... mainly concerned with?
What is the main idea of paragraph 1,2,3, ...?
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There is a big difference between the amount of sleep you can get by on and the amount you
need to function optimally. According to the national Institutes of Health, the average adult
sleeps less than seven hours per night. In today's fast-paced society, six or seven hours of sleep
may sound pretty good. In reality, though, if you sleep that long, you are most probably not
getting the sleep you need. Just because you're able to operate on six or seven hours of sleep
doesn't mean you wouldn't feel a lot better and get more done if you spent an extra hour or two
in bed.

While sleep requirements vary slightly from person to person, most healthy adults need
between 7 to 9 hours of sleep per night to function at their best. Children and teenagers need
even more. And despite the notion that our sleep needs decrease with age, most older people
still need at least 7 hours of sleep. Since older adults often have trouble sleeping this long at
night, daytime naps can help fill in the gap.

According to the passage, the appropriate number of hours of sleep for people----—---- :
1) is on the rise in today's fast-paced society 2) is something between 6 to 7 hours per day
3) depends on their daily function 4) is not exactly the same
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According to the passage, --------------- :
Itis true that ----------------- .
The writer / passage mentions / states that -----------------
mu@_bw&)Q;l‘muduumsoéuw@d,&lwuuya@ﬁéutﬁwﬂ\sbul)\
O Dby an bgope O i 0 55 1550 Cd Djyge (pl o wls 1B K00 sle o o 1) 0T (g g 005 92 ge ool

205 (0 B

f e SN D e Ol 3 O 1P
NI LR HP ST PSS I VR PSP W Y BC Ol EONPE ETRRLIVWIR I SE SR TR g P S VRPARU W DN
G e oy e o aS > Cunl maly Jlews Cllae cpl Lo 005 o el Yw Iy Golams sl s 3PS
0 P Gl can an ols Al sl o s ol galdS Sole b osly SO sllo b 4SS e F o s 4 bgy e

Dges oy 2 |y e calizee sla jisu cuwl

Al yo 5l Jol> Couiad b g 00ges adrine |) 435 10 oS Ojle b ojly el oo b s 3l o ol 4 ols sl (6l
53 g 03505 B> 1y ] ail oo e Billae gl a;E ST ol oy jo 1) soldS sle yle b g b o3ly T S SKimming
Sasp S e 4T Elw a g il ol e iy Olgie ar ]y 43S Ol S g cnl e

Sl asS oy o Jelod o el (S el oy 1) 43S ez o el a4 ol o el B Gl oS Wled 4z
255 o0 )8 6 Ol s 5o ol Jleiml sy 5 ez o sy 0 b Lol gl ol (G e

In 2011, eight percent of children eight-years old and younger used mobile devices daily. That's
according to a report from Common Sense media. This organization studies issues of concern to teachers
and families. By 2015, their report shows that figure had more than doubled. Many pediatricians
are concerned. In my view, they are right to be.

These caring doctors state that this trend is disturbing and needs attention. They focus on data
indicating that excessive media use by young children is linked to fatness, lack of sleep, and
aggressiveness. They also know that too much media use negatively affects school performance. The
American Academy of Pediatrics (AAP) suggests a plan to handle the problem.

The doctors encourage families to set rules about TV consumption, texting, Internet surfing and social
media use. They recommend limiting all four. As I see it, they are the people who know best.
Which of the following is NOT stated in the passage?
1) Doctors have a plan to make schools forbid mobile use.
2) Young children's use of media devices is on the increase.
3) AAP is concerned about the problem which is the focus of the passage.
4) One cause of young children's aggressiveness can be their using media devices more often than they should.
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Nobody knows how long it is possible for a human being to live. Although hundreds of people have
claimed to be 150 or more, the greatest certain age to which any human has lived is 120 years 237 days.

Shigechio Izumi of japan was born on 29 June 1865 and died on 21 February 1986. The
number of people living to be more than 100 has increased; of these are most women.

Many people live to be fairly old, over 80, and then some essential part of their bodies, such
as the heart, gives way and death follows. Many others, however, die younger from hunger,
disease or accidents. The number of years a human being may expect to live on average is called
his or her expectation of life. “On avenge” takes account of those who die in children as well as
the people who live to be old. Women usually live longer than men. Before ways of preventing
or curing disease were known, the expectation of life was not long, even in rich countries. At
the end of the 18th century the expectation of life at birth in northwestern Europe and America
was 35 to 40 years. By 1970 it was more than 70 years.

Yet in spite of modern knowledge, babies born in many developing countries have an
expectation of life of less than 40 years. Some starve, many are weakened by poor diet, and
many dies from outbreaks of illness caused by people living in crowded areas.
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1. Which statement about the passage is NOT true?
a) We know for sure that some people have lived over 150.
b) Shigechiyo Izumi of japan lived more than 100 years.
C) the greatest certain age to which one has lived is 120 years 237 days.
d) the number of people living to be more than 100 years has increased.

2. The passage mentions all of the following causes of death EXCEPT ------------------ :
a) hunger b) disease C) wars d) accidents

3. “Expectation of life can be -------------------- .
a) the number of years that old men live.
b) the number of those who die in childhood
c) the average years a human being may expect to level
d) people who die in childhood as well as those who live to be old

4. According to the paragraph 4, the expectation of life before ways of curing disease were
KNOWN Was ----=-==-==-==-==----- _

a) high b) low C) unimportant d) average
5. the expectation of life for babies born in developing countries is ---------=--=====------ :
a) less than 40 years b) more than 40 years
¢) mostly at 40 years d) exactly at 40 years
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Nobody knows how long it is possible for a human being to live. Although hundreds of people
have claimed to be 150 or more, the greatest certain age to which any human has lived is 120 years
237 days. Shigechio Izumi of japan was born on 29 june 1865 and died on 21 February 1986. The
number of people living to be more than 100 has increased; of these are most women.
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the greatest certain age to which any human has lived is 120 years 237 days.
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We know for sure that some people have lived over 150.
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Many others, however, die younger from hunger, disease or accidents.
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The number of years a human being may expect to live on average is called his or her
expectation of life.

. Cewl 00! ©) dmﬁ)od‘fw‘wu|? AW Gfa)w.ms

7 aniS s gz eyl Jlg
fesly oo 1y (gaudS LS Blbl dles g oS o0 log VY L3 o |, curing disease Jlgw & y50 salS Slels
Before ways of preventing or curing disease were known, the expectation of life was not long.
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Yet in spite of modern knowledge, babies born in many developing countries have an
expectation of life of less than 40 years.
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Nelson Mandela was born in Quna, a small village in South Africa in 1918. His father was an
important man in the village but he died when Nelson was still young. Nelson suffered a lot because of
his father’s death but he never asked for a charity, he just worked hard and finally went to a university
where he studied history and languages. At the university he became interested in politics and joined the
African National Congress. He studied law and became a lawyer in 1952. He became a leader in the
African National Congress and devoted all his life fighting against the white African government. In
1962 he went to prison. In 1990 he was finally set free and in 1993 he won the Nobel Peace Prize.

1- When Mandela was young he had a lot of hardship because ------------------ .

a) he studied history and languages b) he lost his father

c) He became a leader in the African National Congress d) He was sent to prison
2-According to the passage Mandela was in prison for............cccceeene.e. years.

a) 1990 b) 1962 c) 28 d) 38

Health means much more than not being sick. When you are healthy, you say you "feel great." You
are happier and do better work. Health helps you enjoy play, sports and parties. It also helps you make
friends. Health as a whole includes physical, mental and social health. All parts of your body must work
together properly to give you physical health. Your mind must act normally to give you mental health.
You must enjoy being with other people and they must enjoy being with you for social health.

You usually do not think about your body when it works properly. But you worry about your health
when you do not feel well. The healthy body protects itself against many illnesses. It can make a cut
finger or broken leg as it was before. But it breaks down and stops working well unless it receives proper
care. Your body can stay healthy only if you supply it with the food and care that it needs. All through
the history many persons have worked to improve man's health. Also, the government and a lot of
organizations always try to make useful laws to help protect your health.

3 - According to the passage, health DOES NOT help you with :
a) making friends  b) eating good food ) doing better work d) feeling happy
4- According to the passage, You usually think about your health ------------------- .

a) at all times during your life b) if you do not receive enough food to eat
c) when you cannot make new friends d) when your body does not work properly

Too much TV- Especially programming of low educational value- can reduce people’s ability to
concentrate or reason. In fact, studies show that after only a minute or two of watching TV, a person’s
mind relaxes, as it does during light sleep. Another possible effect of television and also video tapes on
the human brain is poor communication. Children who watch a lot of TV may lose their ability to focus
on a subject or an educational activity for more than ten or fifteen minutes. The result is poor performance
at school. It may also result in a condition in which people are unable to pay attention, listen well, follow
instructions, or remember everyday things.

5- Which of these occurs faster during watching TV?
a) decrease in ability to concentrate b) poor social communication
c) loss of ability to remember d) relaxation of mind

6- Which statement is Not mentioned in the passage?

a) Watching too much TV can decrease people’s ability to concentrate.

b) Children who watch TV a lot may lose their ability to focus on a subject for a long time.

¢) Watching too much TV can have bad effects on children’s eyesight.

d) Too much TV may also result in a condition in which people are not able to listen well
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Which of the following is NOT true (stated) in the passage?
All of the following are true / mentioned / stated, EXCEPT -------------- :
Which of the following statements is EALSE?
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The Eskimos' way of life has changed much over the past hundred years, although many
traditional customs do persist. And despite the geographical separation between different
Eskimo groups, all Eskimos have preserved a similar culture. They are still mainly coastal
people who journey inland in the short summers to hunt caribou and birds, and to fish. The
Major exceptions are some North Alaskan Eskimos and the Caribou Eskimos, who live inland
all the year round. The North Alaskan Eskimos are famous for hunting the enormous
bowhead whale, weighing 54 tons (60 US tons). Elsewhere on the coast, Eskimos hunt seals,
walruses, and smaller whales such as the white whale. Fishing for cod is popular among the
Eskimos in Greenland and Labrador.

It can be reasonably concluded from the passage that some Eskimos hunt the bowhead
whale :

a) for fun b) out of nee  ¢) to show their hunting ability d) to sell its meat to the US
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Even in a informal group, communication is always more complicated than it is between two
individuals. Some people feel very nervous when they are in a group; they might either keep
quiet and say nothing at all, or else they may start speaking and never want to stop. To work
well in a group, you have to learn to listen as well as to speak, and you must be prepared to
change your mind, or to agree to cooperation with other people present. No group well if its
members are selfish and stubborn.

It can be understood from the passage that to communication well in a group, you need

to :
a) be open to ideas different from yours
b) learn how to make all members think like you
c) people should learn how to hold a meeting
d) Keep quiet and say nothing at all
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To work well in a group, you have to learn to listen as well as to speak, and you must be prepared

to change your mind, or to agree to cooperation with other people present.
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It can be understood from the passage

It can be concluded / inferred from the passage

The writer / author suggests / points out / implies
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For centuries there have been descriptions of unusual animal behavior happening before
and related to earthquakes. In cases where animals show unusual behavior some tens of
seconds before a quake, it has been suggested they are responding to the P-waves. These
travel through the ground about twice as fast as the S-waves that cause most severe shaking.
They predict not the earthquake itself - that has already happened - but only the possible arrival
of the more destructive S-waves.

In the 1970s, scientists thought that a practical method for predicting earthquakes would
soon be found, but by the 1990s continuing failure led many to question whether it was even
possible. Demonstrably successful predictions of large earthquakes have not occurred and the
few claims of success are not accepted by all scientists. For example, the most famous claim of
a successful prediction is related to the 1975 Haicheng earthquake.

A later study said that there was no valid short-term prediction. Extensive searches have
reported many possible earthquake signals, but, so far, such signals have not been reliably
identified across significant spatial and temporal scales. While part of the scientific community
hold that, considering nonseismic signals or precursors and given enough resources to study
them extensively, prediction might be possible, most scientists are not that positive and some
say that earthquake prediction is inherently impossible.

There is enough information in the passage to answer which of the following questions?
1) In what cases did scientists fail to predict earthquakes in the 1990s?
2) How much faster do P-waves travel compared to S-waves?
3) What kind of unusual animal behavior can be a signal of an upcoming earthquake?
4) Why is it that S-waves are more destructive than P-waves are?
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The first time | came to the Herault, after a ten — hour train ride from Paris to Montpellier, |
caught a bus to the old village where my friend Sarah had bought a house. When | got there an
hour and a half later, despite the fact that I’d been riding on a modern bus, I had the sense that
I’d moved back 700 years.

Sarah’s house is made of Stone, a few hundred years old, typical of the kind of place for sale
cheaply here. Like actually all the village houses it’s attached to the neighboring ones — SO
although the village is small it feels heavily populated, everybody living close together, always
somebody leaning out of the window or sitting in front of the door. Inside, it is dark and cool.
When Sarah bought the house, it cold running water, some missing floors, and the fireplace
didn’t work.

1. Which of the following questions does the passage answer?
a) Did anyone help Sarah to fix her house?
b) How did the author happen to know Sarah?
¢) why did the author travel 700 years back in time?
d) Did the author walk from Montpellier to her friend’s house?
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The first time | came to the Herault, after a ten — hour train ride from Paris to Montpellier, |

caught a bus to the old village where my friend Sarah had bought a house.
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Which of the following guestions does the passage answer?

There is enough information in the passage to answer which of the following guestions?
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Which of the following guestions in NOT answered in the passage?
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One of the most important decisions at the time when people grow up and become adults
IS what job or career to choose. However, with so many possibilities to choose from, this
decision is often a difficult one to make. In addition, there are many factors that may influence
an individual in the choice of a career and some of these may be conflicting. For example,
family pressure, the potential for earning money, and one's own personal interest may all be
factors that pull an individual in three different directions when trying to decide what career
path to follow.

Although it is often stated that by the time a person is a young adult they will know what
they want to "do with their life," in fact, the process of finding a career may take a long time. It
Is not uncommon for an individual to try more than one career before finding the one that leads
to job satisfaction.

Clearly young adulthood is a period of stress. It is a time for raising a family, finding and
maintaining the "right™ job, and keeping a balance among self, family, job, and society at large.
It is a period of life that requires great energy. Fortunately, in terms of physical development,
we are at something of a peak during our 20s and 30s.

As Levinson (1986) has stated, "early adulthood is the era of greatest energy and abundance
and of greatest contradiction and stress.

1. Why does the author mention **family pressure, the potential for earning money, and one's
own personal interest," in paragraph 1?

a) to introduce some of the factors that influence an adult's choice of a career
b) to give examples of adult responsibilities

c) to discuss the positive and negative effects of every career choice

d) to explain why adults need to choose a career

2. The passage is primarily intended to :
a) introduce a finding b) inform C) provide advice d) make a suggestion
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Why does the author mention / discuss / compare

The author mentions / discusses / compares
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A dream can be defined as a train of thoughts and fancies occurring during sleep. It is now Known
that everyone dreams, even if they cannot recall doing so. Recording the electrical activity of the
brain(EEG) during sleep shows that there are two kinds of sleep. If people are awakened from the deeper
kind, they seldom recall dreaming. But if they are awakened from the lighter kind, called REM sleep
because of the rapid eye movements which accompany this kind of sleep, they nearly always recall a
dream.

The newborn infant spends about half its sleeping time in REM sleep; the adult about one-sixth.
Someone who sleeps for seven and a half hours generally spends about one and a half hours dreaming.
REM sleep is abolished by sleeping pills; but when a person stops taking these, he dreams almost
continuously, as though he needed to catch up on what he had lost. REM sleep also occurs in all species
of mammals and animals so far studied.

These facts about dreams suggest that they must serve important biological function in all higher
animals including human beings. But scientists do not agree on what this function is. Although we spend
about a third of our lives asleep, and rapidly become confused and ill if we are deprived of sleep, no one
fully understands why we have to sleep so much. So it is not surprising that there are a number of
different theories about dreams.

The paragraph following this passage would most probably discuss -------—------ :

a) Different kinds of dreams

b) how great the number of our drams is

) why it is not surprising that we dream a lot

d) some theories about dreams
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Passage One:

Most women in Ghana — the educated and illiterate, the urban and rural, the young and old — work to
earn an income in addition to playing their roles as housewives and mothers. Most of Ghana’s working
women are farmers and traders. Only one woman in five, or even fewer, can be classified as simply
housewives. Even these women often earn money by sewing or by baking and cooking things to sell.
They also maintain vegetable gardens and chicken farms. In fact, the woman who depends entirely upon
her husband for her support is not well respected.

In some countries, the problems for women are the opposite of those in Ghana. In the Middle East,
for example, women have traditionally stayed at home. They were responsible for keeping the home and
did not work. In fact, when women went out in public, they walked behind their husband. Today the
pattern of life is changing. Many women want to take an active role in the economy. However, working
reduces their chances of getting married because many men still want to marry in the traditional way.

1. According to the passage, in Ghana, -------------=--=----

a. farmers are mostly women b. fifty percent of women are housewives

c. most women earn their own money d. women fail to raise their children properly
2. The underlined word “illiterate” in the first line means ---------------------- :

a. unable to hear and speak b. unable to work and move

c. unable to write and read d. unable to earn money

3. Opposite Ghanaian women, women in the Middle East ---------------------- :
a. are responsible for providing the family b. raise their children themselves

c. walk beside their husbands d. are mostly unemployed
4. Today, Middle Eastern women ------------=--=----- :
a. prefer to marry rather than go to work b. have no role in the society
c. are too busy at home to go out to work d. play a more active role
5. Even today, many men in the Middle East still --------------------- .
a. don’t like their future wife go to work b. make their wives raise the children
c. prefer to marry a working woman d. reduce their chances of getting married
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Passage Two:

In all societies, a section of the population is labeled as “old”. What is different from place to place
is the age at which people are considered old, and the way old people are regarded. In modern
industrialized societies, old age begins at 65 or 70; in contrast, in the 19" century old age began at 55. In
many poor countries, where people’s life expectations are much lower, someone as young as 40 may be
an old person.

In some societies elderly people are thought of as wise and experienced, and they may even be the
leaders of the community. But in western societies, the elderly is sometimes disregarded. Having reached
a certain age, somewhere between 60 and 70, they may be expected to retire from their jobs, even if they
are still able to work efficiently. Gradually their ties with the community are released, and in many cases,
they live in communities made up entirely of old people.

The rapid ageing of the populations of all the industrialized countries is due not only to people living
longer, but also to a sharp decline from the 1970s onwards in the number of babies being born. women
tend to live longer than men, so that in 1985 for every 100 women over the age of 70, there were only
63 men. It is also true that the better-off members of the society can expect to live longer than the poorer,
since they are generally better fed and have superior medical care.

1. According to the passage, ----------------------
a. people are considered old depending on thelr country
b. 2000 years ago, and old person was at most 55
c. someone as young as 40 is usually called an old person
people in modern industrialized societies die sometimes between 65 and 70

2. The phrase “retire from” in the 2" paragraph is closest in meaning to --------------------- :

a. do b. leave c. compile d. experience
3. According to the passage, the rapid ageing of the populations is ----------------------
a. more related to women b. observed in industrialized sometles

c. specially observed in all Western societies d. common in poor societies

4. The passage is mainly about ------------------- :
a. old age b. population size
c. different kinds of societies d. the number of babies in different societies
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Passage Three:

All viruses are made up of two kinds of substance. First, all viruses contain proteins. Proteins
are chemical substances that occur in all living creatures. A particle, or molecule, of a protein
consists of a long chain of substances called amino acids. There are about 20 different kinds of
amino acid in proteins. These can be arranged in any order on the protein chain. Different kinds
of plant or animal contain proteins with different arrangements of amino acids. The protein
generally forms the outer coat of a virus. This outer layer of protein encloses the second kind of
substance found in all viruses - nucleic acid.

1. It is clear from the passage that --------------------- :
a. proteins are greatly damaged by viruses
b. the amount of proteins differs in each animal or plant
c. few proteins are without amino acids
d. it is impossible to find a living thing with no proteins

2. The arrangement of amino acids --------------------- :
a. is very simple in the proteins of the viruses
b. is determined by the kinds of proteins
c. has nothing to do with proteins
d. varies among each living thing

3. Which of the following best describes the author's tone?

a. sensitive b. informative C. aggressive d. emotional

4. The second substance of the viruses -------------------- :
a. consists of only amino acids b. is usually the part covered by proteins
c. must contain at least 20 amino acids d. is not as essential as the first one
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Passage Four:

One can write notes either in the novel he or she is reading or in a separate notebook. The
advantage of the former method is that it doesn't disturb one's reading too much; disadvantage is
that it spoils a book, it affects one's second reading of the novel, there is not always too much
room for the notes in the book. One way round these problems is to write brief notes in pencil in
a novel as one is reading, then to copy these up and expand them in a separate notebook. These
also allow one to copy out brief extracts from the novel which strike one as important, and it
means that you file for future reference only notes about which you have thought a second time
after having finished reading the novel.

1. It's stated in the passage that ------------------ :
a. there is more than one way to take notes
b. writing notes in the novel doesn't harm the book so much
c. taking notes in a separate book has only disadvantages
d. studying a novel is more difficult than reading it in detail

2. According to the passage, ----------------------
a. writing a novel is more difficult than readlng
b. it short notes may be helpful in the future
c. one can read either novel or short story easily
d. it's not practical to read a novel twice

3. The word "'it" in line 2 refers to ---------------------- :
a. novel b. former method c. book d. pencil

4. The main concern of the passage is -------------=-------- :
a. the methods of reading a book
b. how to cope with problems of reading a novel
c. the notes that are taken while reading a novel
d. how to write a good novel
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Passage Five:

The Brazil nut tree is one of the Amazon's longest living trees, of an age 1,000 years. Its
flowers depend on bees for pollination. Once pollinated, a coconut-sized seed containing some
tiny 20 seeds, develops for over 15 months before falling to the forest floor. They are found
exclusively in Amazon forests. Harvesting is exhausting, even for the strong. Apart from bees
and the Brazil nut harvesters, the life of many other plants and animals is intertwined with this
tree. The empty seeds fill with rainwater and provide breeding grounds for flies, frogs, all of
which depend on these small ponds on the forest floor. The major threat to the trees is forest
clearing. Sustainable harvesting of Brazil nuts is therefore vital way to provide protection of
forests and saving the Amazon.

1. We can clearly understand from the passage that the Brazil nut ----------------
a. is only found in Amazon forests because harvesting it requires demanding work
b. is the only food bees show interest in
c. is the fruit of the longest living tree in Amazon region
d. must be harvested in 15 months after it has been planted

2. We can infer from the passage that when considered ecologically ------------------
a. seeds of the Brazil nut spread through many countries of the world through polllnatlon
b. bees depend mainly on the flowers of Brazil nut trees to survive
c. the Brazil nut is important not only for some animals but also the Amazon's survival
d. the Brazil nut can only grow in places where there are flies and frogs

3. The word "its" in line 1 refers to ------------------ :
a. nut b. tree c. flower d. Brazil nut tree

4. Itis clearly pointed out in the passage that ------------------

a. since the Brazil nut tree only grows in the Amazon, it is the main attraction of this region

b. the reason why the Brazil nut is important for some animals is that its seeds serve like water ponds
for them.

C. it is necessary to restrict the growth of the Brazil nut to save the Amazon

d. the first cultivation of the Brazil nut in the Amazon dates back 1000 years ago
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Passage Six:

Often mistaken for insects, spiders actually belong to a different classification of creatures,
called arachnids. They're insects’ worst enemies. Although a few species, such as the black widow
and the brown recluse, are dangerous, the majority are harmless to humans. Moreover, they can
be helpful. Pest control, for example is just one of the many ways spiders can help us. Because
they kill far more pests than commercial insecticides do. In the future, perhaps if farmers employ
armies of spiders to protect their fields, our grocery bills will be lower and our soil and water and
food will have fewer pesticide remains.

1. Unlike many people think, ---------=---------
a. the black widow is a dangerous species of the spider
b. spiders are the worst enemy of insects
c. same species of spiders are dangerous
d. a spider is not a kind of insect at all

2. The black widow and the brown recluse --------------------- :
a. are often confused with other species of spiders
b. do the greatest harm to soil, water, and food
c. are two of the few dangerous species of spiders
d. are the most commonly used species of spiders in pest control

3. The word "'they™ in line 3 refers to -----------------=----- :
a. insects b. spiders
c. humans d. black widow and brown recluse spiders

4. In the future, agricultural products might be cheaper and healthier if ------------------ :
a. they found an effective way to get rid of spiders
b. some species of spiders weren't so harmful
c. armies of spiders are employed to protect the fields
d. insecticides destroy all the insects on the field
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Passage Seven:

Today, millions of people want to learn or improve their English but it is difficult to find the Best
method. Is it better to study in Britain or America or to study in your own country? The advantages of
going to Britain seem obvious. Firstly, you will be able to listen to the language all the time you are in
the country. You will be surrounded completely by the language wherever you go. Another advantage is
that you have to speak the language if you are with other people. In Iran, it is always possible, in the
class, to speak Persian if you want to and the learning is slower. On the other hand, there are also
advantages to staying at home to study. You don’t have to make big changes to your life. As well as this,
it is also a lot cheaper than going to Britain but it is never possible to achieve the results of living in the
UK. If you have a good teacher in Iran, you can learn in a more concentrated way than being in Britain
without going to a school.

So, in conclusion, if you have enough time and enough money, the best choice is to spend some time
in the UK. This is simply not possible for most people, so being here in Iran is the only practical option.
The most important thing to do in this situation is to maximize your opportunities: to speak only English
in class and to try to use English whenever possible outside the class.

1. One of the advantages of going to the UK to learn English is that -------------------

a. there are no Iranians in Britain b. you will have to speak English and not Persian
c. the language schools are much better d. you will have more concentration
2. If you decide to learn English in Iran, -----------=--=-=--—--- :
a. you will have better teachers b. you don’t need to work too hard
c. your life can continue as it was before d. you will be surrounded by the language
3. People who don’t have a lot of time and money should -------------------
a. learn English in Britain b. try and speak English in class more often
C. go to Iran to learn English d. make big changes to their life
4. The word ¢’obvious” in the first paragraph is closest in meaning to ---------------------- :
a. natural b. popular C. necessary d. clear
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Passage Eight:

Which is the most difficult language to learn? Well, it’s not easy to answer because there are
many factors to take into consideration. A native speaker of Spanish, for example, will find
Portuguese easier to learn than a native speaker of Chinese, for instance, because Portuguese is
very similar to Spanish, while Chinese is very different, so first Language can affect learning a
second language. The greater the differences between the second language and our first, the
harder it will be to learn. Many people answer that Chinese is the hardest language to learn,
possibly influenced by the thought of learning the Chinese writing system, and the pronunciation
of Chinese does appear to be very difficult for many foreign learners.

However, for Japanese speakers, who already use Chinese characters in their own language,
learning writing will be less difficult than for speakers of languages using the Roman alphabet.
Teachers and the circumstances in which the language is learned also play an important role, as
well as each learner’s motivation for learning. If people learn a language because they need to
use it professionally, they often learn it faster than people studying a language that has no direct
use in their day to day life.

1. How hard a language is to learn depends on ------------------ :
a. how similar it is one’s mother tongue whether b. it is Chinese or Portuguese
c. huge challenges faced by different learners how long d. it takes to master pronunciation

2. A Japanese speaker finds the Chinese writing system easier because ------------------- :
a. Chinese characters are not as complex as Roman alphabet
b. the two writing systems have many characters in common
c. Japanese and Chinese cultures are almost the same
d. they need to use the Chinese language professionally

3. The best topic for the above passage would be ------------------

a. The Hardest Language b. Learning A Language
c. Different Writing Systems d. Chinese Against Portuguese

4. The underlined word “circumstances” in paragraph Y is closest in meaning to -------------- :
a. action b. condition C. occasion d. environment
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Passage Nine:

Peter Pan, the boy who never grew up, became known to the world in the play Peter Pan by the Scottish writer
Sir James Barrie. The play was first acted in 1904 and is nowadays put on the stage nearly every year at Christmas.
One of Sir James Barrie’s friends had five small sons, and the story of Peter Pant’s adventures grew out of the
long series of games that the author and the boys played together.

According to the play, all children when they are little would like never to have to grow up, but to be children
for ever in an imaginary land of adventure. This was just what Peter Pan was able to do, for he had escaped from
ordinary life and lived in the Never Never Land. Sometimes Peter would come to the real world and take real
children back with him to the Never Never Land, and in the play it was the Darling family- Wendy, John, and
Michael - who went with him and shared his adventures. With Peter too were a number of Lost Boys who had no
mothers and could not get back to the ordinary world. During her visit Wendy Darling looked after them and
became a mother to them.

Peter was very sure of himself and very brave in danger. When he thought in one adventure that he was going
to be drowned, he did not let himself be afraid, but just said, “To die will be an awfully big adventure.” He was
saved, however, and together with the children managed to destroy Captain Hook. The Darling family went back
to their home and their parents, but Peter returned to the Never Never Land to live as a boy forever.

1. All of the following are some of the people in the play Peter Pan EXCEPT ----------------=--- .
a) Lost Boys b) Wendy Darling
¢) John and Michael d) Five small sons of Barrie’s friend

2. The main point in the play is that -------------------- :
a) all people act like children b) children love to always remain children
c) adventure is needed for the growth of children  d) parents should try to understand children’s dreams

3. According to the passage, Peter was full of --------------------

a) contrast b) inaction c) confidence d) embarrassment
4. What encouraged Sir James Barrie to write the play Peter Pan was -------------------- :
a) his boring life b) his need for money
c) the adventures of Captain Hook d) some games he played with some children
5. It can be understood from the passage that the play written by Sir James Barrie is -------------- .
a) no longer shown at theaters b) famous only in his own country
c) known to people in many countries d) available whenever you want to watch it at a theater
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Passage Ten:

William Sydney Porter, who wrote under the name of O. Henry, was a United States short- story
writer best- known for his descriptions of the many kinds of people he observed and knew in New York
City. He wrote about 600 pieces of fiction, and his collections of stories were very popular during the
first decade of the 20™ century.

He was born in the state of North Carolina. When he was three, his mother died, and he was sent to a
school taught by an aunt. At 15 he left school to work in his uncle’s shop, but he soon moved to Texas.
He loved the life of the southwest, and he learned to speak Spanish. In Texas he was a bookkeeper and
bank clerk. He also worked for a while on a large farm.

After his marriage to Athol Estes in 1887, he began to write funny pieces for newspapers. He became
so interested in writing that he bought a paper and made it a humorous weekly called The Rolling Stone.
He wrote most of the pieces for it and even illustrated the articles himself. When the paper did not make
enough money, he took a job writing for The Houston Daily Post as a reporter and journalist.

In 1896 he was asked by the police to return to Austin, Texas, from Houston, to answer charges that he
had taken money from the bank where he had worked. If he had returned, he might have been cleared of the
charges. Instead, he ran away to New Orleans, Louisiana, then to Central America, and finally to Mexico.

1. According to the passage, O. Henry was famous mainly for writing about ---------------- .

a) new stories in newspapers b) people whom had worked with

c) people in the state of North Carolina d) people whom he knew in New York
2. O. Henry worked as all of the following except a -------------------- :

a) farmer b) school teacher c) bookkeeper d) bank clerk
3. The word “it” in line 10 refers to e

a) paper b) piece c) writing d) The Rolling Stone
4. When O. Henry could not earn enough money from his newspaper, he ----------------- .

a) sold it b) went to New Orleans

c) took a job as a reporter d) began working with the police department

5. Which sentence is NOT correct according to the passage?
a) At the age of 15, he left school to work in his uncle’s shop.
b) He became so interested in writing that he bought a newspaper.
c) He was asked to return to Austin because they said he had stolen money from the police.
d) His collections of stories were very popular during the first decade of the 20" century.
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Passage Eleven:

The economic and social changes of the past few decades have changed the European family. What
was once normal - two parents, father employed, mother at home, stable financial situation - is now
exceptional. Today, half of all marriages end in failure, and about half all children spend several years
in a single- parent family. Some mothers never marry again, some parents lose husband or wife through
death and some single women and men adapt children. It means that they decide to raise other people’s
children.

A single- parent family is at a greater risk for such negative outcomes as decline in income, poverty,
and behavioral problems. Most single parents find it difficult to meet all their financial duties. A decrease
in income may require them to move the family to a less expensive home in a different neighborhood,
transfer the children from one school to another, and spend less money on goods.

While the pressures on the single- parent family are great, problems do not always occur. If a single
mother can manage the different tasks of taking care of her children and herself, her family can not only
survive but also advance a lot.

1. What is paragraph 1 mainly about?
a) The problems of today’s children. b) How to help single- parent families.
c) Recent economic and social changes in Europe. d) The change in the structure of the European family.

2. According to the passage, in the past a normal European family had ----------------- :

a) so many children b) no financial problems
c) people to take care of the children d) a father at work and a mother at home
3. All of the following are given in the passage as reasons why there are single- parent families EXCEPT----------- .
a) increasing poverty b) a father or mother dying
c) a mother never marrying again d) a single man adopting a child

4. The word “them” refers to ----------------- :
a) duties b) problems c) single parents d) negative outcomes

5. According to the passage, a single- parent may transfer his or her child from one school to another when

a) they move to another home b) they have financial problems
c) they want to be close to shops d) their children do not do well at school
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Passage Twelve:

Before Newton's time, scientists knew something about gravity. They know that gravity makes objects
fall to the ground and keeps houses and people from being thrown into space. Could it be, Newton asked
himself, that the earth pulls the moon and keeps it from running away? And could it be that the sun pulls
the earth and the other planets and helps keep them in their paths? Newton thought so.

At first, he could not prove that his idea was right. He himself decided that he was on the wrong track.
But years later he worked again on the problem and found out that he had been right after all. He wrote
a famous book about gravity.

Newton made many other discoveries. Some of them were about light. He found out, for instance, that
sunlight is made up of the rainbow colors. He studied sunlight partly by blowing soap bubbles and
watching the colors in them. His neighbors were surprised to see a grown man blowing bubbles for hours
at a time.

Newton wanted to find out more about the planets and the other heavenly bodies. But he was not
satisfied with the telescopes that were available. To get a better one he invented a new kind — a reflecting
telescope. It helped him find out many new things about the sky.

1. Scientists who lived before Newton ------------------- :
a) were familiar with what we now call gravity
b) did not know why objects fell to the ground
c) did not understand that some force held them tied to the Earth
d) were amazed at the fact that houses kept sticking to the ground

2. Newton wrote in first book when he ------------------- :
a) realized that his ideas were correct
b) found out he was on the wrong track
c) decided to become famous in his country
d) decided to share his experiments with other scientists

3. The phrase ""made up" in paragraph 3 is closest in meaning to ------------------- :
a) bent b) built c) composed d) separate

4. The word ""one'" in paragraph 4 refers to ------------------- ,
a) kind b) view C) experiment d) telescope
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Passage Thirteen:

The Greek philosopher Plato has had an enormous influence on the thought and literature of the world.
He grew up during the Peloponnesian War, when the greatness of Athens came to an end. The injustices
of the new rulers made him turn from politics, which had interested him, and devote himself to
philosophy. That is, he studied and tried to understand and explain the truth about the world around him.

Plato was the most famous pupil of that other Greek teacher Socrates, and he wrote down the words
of his master. In two of his works, he gave accounts of Socrates' death. Plato also made Socrates the
chief speaker in most of his dialogues, which are imaginary conversations on philosophy. It was in these
dialogues that Plato put forward his ideas. Following the example of Socrates, he tried to find answers
to such questions as "What is justice?" "What is beauty?" "What is goodness?" One of the greatest of
Plato's dialogues "The Republic” describes a perfect state.

Plato believed that rulers should be trained from their earliest youth to rule not for their own benefit but
for the good of all the people in the state. However, the young prince whom Plato himself taught
governed as badly as anyone else.

1. According to the passage, Plato devoted himself to philosophy because ------------------ :
a) he did not like politics b) he studied and tried to understand the truth
c) the greatness of Athens came to an end d) of the injustice of the rulers

2. Which sentence about Plato is NOT true?
a) Plato included Socrates in his written work.
b) Plato described Socrates' death in his work.
c) Plato was the most famous teacher of Socrates.
d) Plato has had an enormous influence on the thought and literature of the world.

3. Which of the following is NOT true about Plato's Dialogues?
a) They are about important subjects.
b) They are about some issues in philosophy.
c) Plato himself is one of the people in the conversations.
d) the conversations are the product of Plato's mind.

4. The word "'state" in paragraph 3 means ------------------- :
a) government b) condition C) manner d) organization
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Passage Fourteen:
As recently as 50 years ago all the members of a family would run to the window to watch an automobile pass.

They watched the horseless carriage to see if it could climb the next hill. They wondered what would happen to
the passengers in a rain storm. People joked about the early cars but almost everyone wanted to own one.

The automobiles of 50 years ago did not look much like the cars of today. They looked more like the horse-
drawn carriages people were used to riding in. Some of the early cars even had electrical connections.

The idea of using an engine of some kind to turn the wheels of a carriage is really quite old. The first automobile
accident happened in 1769 nearly 200 years ago. A steam carriage built by the Frenchman Nicolas Cugnot (kune
YO) overturned on a curve. It was traveling less than miles an hour!

In 1831 steam carriages carrying 18 passengers were making regular trips between cities in England. They
averaged about five miles an hour. But toll road keepers began raising their rate on steam carriages. People
sometimes threw stones at the carriages. The government also began passing laws against them. One of these
laws called the Red Flag law said that a man had to walk in front of any steam carriage and carry a red flag during
the day or a red lantern at night.

1. What does the passage mainly discuss?
a) Early automobiles
b) People's feelings about automobiles
c) First car accidents and laws
d) Difference between horse- drawn carriages and automobiles

2. Which of the following is TRUE about early automobiles?
a) They looked like horse — driven carriages.
b) They traveled over long distances very fast.
c) People were convinced they were very efficient.
d) People were not interested in having one of them.

3. This passage was probably written ------------------- .
a) 50 years ago b) 200 years ago
c) before 1769 d) in the second half of the 20 century

4. The word "'they" in paragraph 4 refers to ------------------- .
a) cities b) trips C) carriages d) passengers

Q| 900 A D 4 LT . iauge (oo 0,5ty Canms 43 099 435 JI 10 a5 Loegil auo (sl 00lgils G slael (5 ann i Jlo 00 o b
20 30 0Ll aalgs 8L e (gl (Blasl ax L g (Bg plKin s wsls sod 9 99 YU (g0 oVl 5l Ailg co LT aiio B ais S 0 oSS
sl 42l (1, T 5 (S aiulss o dod Ly 5 Lol 0itiS o didal adsl slo Jurogi! 5,90

Dgd LT lgms aiii s Sole po e 4 Wog o | b sl AJlS Jio 5 s 9 095 (59,0 sl Jurogil Jio (S i Jlo 00 slo Jurogs!
W39 5 (B VLl ghils (s> adsl sle fegil 5l can

Yoo i WP Jlo 5o Jeegsl Bolas udol sl (o008 SLalS” adly 1o Wil om |, aSllS 5 slo 552 45 (59350 £95 Su 3 ool 56
et g D eSSy s S Sl 8 sy et Azl LSS LIS pbiay Gguild Sy o g5 4 i yTae aSllS S s By i Jle
Sy el ;o blo dw 5l 5 65 o]

Lgio job 4 g wiols o plonil plate 6l yin LndSl (glo s cpm 050,50 Jo |y y3lass VA 45 JBu jgige b sla aSdlS VATY Lo o
Gyl 4y 2l po e sl (a3l 1) 095 F 5 aiis S e SLIL Ll 5l s sols 0 &S > gl oS SlaeS Ll ais S o &S, cclo jo blo iy
355 (50 oailsE 5ay8 oz sl A uils cnl 5l (S dged il e (SlsE gl @ gt 5 g 00,8 g0 Uy S L A
S5 Sewd dr b Job )3 1) 08 el SG g 59, Job 5o 1) 508 e o g 395 ol B SIS 52 (sola 3 b HE S AT S (o0 et

(€)-¢ (d)-¥ @) -" @ -

"Guax Jloz" 15)910,8 9 Ll " Cdlae )" I 4 (3 6K5ewl (L) Kal) tend duds A9 )5S Sy 2o 46




Passage Fifteen:

Studies show that rapid increase in population growth creates problems for developing countries. So
why don't people have fewer children? The information collected from the developed countries suggests
that it is only when people's living standards begin to rise that birth rates begin to fall. There are good
reasons for this. Poor countries cannot afford social services and old age pensions- the money they get
from the government when they become old and can't work — and people's incomes are so low they have
nothing to save for the future. As a result, people look to their children to provide them with financial
help in their old age. Having a large family can be a form of insurance. And even while_they are still
quite young, children can do a lot of useful jobs on a small farm. So poor people in a developing country
will need to see clear signs of much better conditions ahead before they can think of having smaller
families. But their conditions cannot be improved unless there is a reduction in the rate at which
population is increasing. This will depend on a very much wider acceptance of family planning and this,
in turn, will mean basic changes in people's ideas.

1. What is the best title for the passage?
a) Reasons for Population Increase
b) Children's Function in Poor Countries
c) People's Income in Developing Countries
d) Family Planning Programs in Developing Countries

2. According to the writer, people in poor countries have a lot of children mainly because ---------------- :
a) they receive government support for every child
b) they rely on them for support during their old age
c¢) methods of family planning are not being practiced in those countries
d) they usually become involved with farming, which makes it easier for them to get their food

3. The writer mentions that, before deciding upon family planning, ------------------ :
a) people in poor countries should be moved to urban areas
b) governments of poor countries should change people's income and ideas
c) governments of developing countries must forbid parents to use child labor on farms
d) developed countries should help developing ones to improve their standards of living.

4. The word "'they" in line 8 refers to ------------------ .
a) parents b) people c) family d) children

5. For which of the following has the writer given a definition?
a) Pension b) Insurance c¢) Family planning d) Population increase
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Passage Sixteen:

The Korean language, also a member of the Altaic language family, is spoken by about 57 million
people, 39 in South Korea (The Republic of Korea) and 18 in North Korea (Democratic People's
Republic). There are some differences between the language of the North and of the South.

Some Korean words come from Chinese. These words are written in Chinese characters, Kanji. But
unlike Japanese, words of Korean origin are never written in Kanji. During the 15™ century, a local
phonetic script called en-mun (today known as hangul) was invented. It was not based on Chinese models
like the Japanese script, but on Sanskrit, the phonetic alphabet of ancient India. For a long time, the script
was used only by the common people. The royal court and the most important writers continued to use
Chinese characters until the late 19" century. Today, however, hangul is used by everyone in North
Korea. In the South, the use of borrowed Chinese characters as well as hangul is discouraged but
nevertheless still accepted.

When the Japanese took over control of Korea in 1910, they ended the use and teaching of Korean. But
after the end of World War 11, hangul was revived, although Chinese writing is still taught in schools in
South Korea.

1. According to the passage, the Korean words which come from Chinese are written in --------------- :
a) hangul b) Sanskrit c) Kaniji d) Japanese alphabets

2. According to the passage, which sentence is NOT true?
a) Hangul is a Korean phonetic script.
b) Hangul was based on Chinese models.
¢) Japanese script was based on Chinese models.
d) Hangul was based on the phonetic alphabet of ancient India.

3. The phonetic alphabet used in North Korea is called ------------------- :

a) hangul b) Latin alphabet
c) Korean alphabet d) ancient Indian alphabet
4. The word "revived" in the last paragraph is closest in meaning to ------------------ :
a) renewed b) reacted c) released d) reviewed
5. What is taught in Korean schools now?
a) Korean writing b) Chinese writing
¢) Revived hangul and Korean writing d) Revived hangul and Chinese writing

5,5 )3 (ysedes YA S o Cammo b3 ol a5 aelis O Togus g Cans | Gudbsl Lugildl slo oL olgils gas oo sl 0,8 o5
sl Sl ol gtz g 5588 (nl Jlad b om (0,5 3l SlS500 (655002) (o 05 10 (ks VA 5 (o) (S )302) 2552 s
S,l0 8929 (gL

SlelS B 1 i ls o;ui)ﬁéwul YW @wy_@uw_wéLM‘bstWc&‘ o,S ol Sy
I (o0 0duel € yge D a5 0 glal Ao olgl Ll o5 (el )8 10 g ced al b S LAl b cdg e ( 5
2ol Ll — o Sile wlal p a8l g (oo wbol g (0l Ll Jio Ll 0l (09 oo il HANGEUL oL L o5 ,sl)
g ool oBols (ejes oy,8 Bl b8 T o 1,8 colain | 5590 p0 e dole baw o s Vb (sl Do U g 0g —— i L i
30 S e oolaul Hangeul ;| a.s Slod 0,5 10 039l (Jl> 1l b ais,S o sl gz sl lis oo oS5 o ss
el J58 050 Gz o w0sd e HANGRUL 5 5 ez 0 5l oad 48,5 Ll 5l oolicil 57 cl 9525 b o8 (9 oS

5o Lol aboase b sl e, by (osgel g ooliiwl a4 wizd 5 cws sl 0,5 jg0l S o (l5as Sloy VAV Jlw jo
Dgud oo ey ¥ (25 0,5 wylde 10 Lz ob gz g b adl il Jglace o)bgo Hangeul Sleolainl pgo Sl K>

(b) -° (@) -¢ @ -* (b) - © -

"Guax Jloz" 15)910,8 9 Ll " Cdlae )" I 4 (3 6K5ewl (L) Kal) tend duds A9 )5S Sy 2o 48




AL (el (5L )9-SS' Cllae S5 YA

Passage 1- (9¢ o2L))

Mars is the fourth planet from the Sun and the second- smallest planet in the Solar System,
after Mercury. It is often referred to as the “Red Planet” because the iron oxide prevalent on its
surface gives it a reddish appearance. Mars is a terrestrial planet with a thin atmosphere, having
surface features that look like the craters of the Moon and the valleys, deserts, and polar ice caps
of Earth.

The rotational period and seasonal cycles of Mars are likewise similar to those of Earth, as is
the title that produces the seasons. Mars is the site of Olympus Mons, the largest volcano and
second-highest known mountain in the Solar System of Valles Marineris, one of the largest
valleys in the Solar System. The smooth Borealis basin in the northern hemisphere covers 40%
of the planet and may be a giant impact feather. Mars has two moons, Phobos and Deimos, which
are small and irregularly shaped. These may be captured asteroids, similar to 5261 Eureka, a Mars
Trojan.

1. Which of the following questions is the one the passage is primarily written to answer?
a. How was Mars formed?
b. What life forms can Mars support?
¢. What does the Planet Mars look like?
d. How big is Mars compared to other planets in the solar system?

2. The passage suggests that Olympus Mons --------------------- :
a. is the only volcano that we can find on Mars
b. plays a part in the creation of Marian seasons
c. is the second highest mountain in the universe
d. comes second in height in the whole solar system

3. The word “one” in paragraph 2 refers to -------------------- :
a. Valles Marineris b. Olympus Mons
C. mountain d. volcano

4. The passage provides enough information to answer which of the following questions?
a. Why is the atmosphere of Mars thin?
b. Where has the iron oxide on Mars come from?
c. Why are the two moons of Mars irregularly shaped?
d. How many planets are closer to the Sun than Mars is?
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Passage 2 — ( AV_A2)

In 1954 the American and Soviet governments announced that they would launch artificial
satellites during the International Geophysical Year of 1957-58. The Russians were first mistaken
about the unmarried satellites Sputnik 1 on 4 October 1957. (Sputnik is Russian for " traveling
companion™) Its capsule weighing 83.6 kilograms went into Earth orbit carrying a radio
transmitter whose " bleeps” (pips) were received on the ground. Sputnik | was followed in
November 1957 by the much bigger Sputnik 2, which weighed half a tony. It carried the dog
Laika, which became the first living creature to orbit the Earth. The first American satellites,
Explorer 1, weighed only 14 kilograms. It was launched in January 1958.

The Russians probe Luna 1 launched in 1959 flew past the Moon at a distance of about 6000
kilometers. In the same year, the Russians actually hit the Moon with Luna2, and Luna3 flew
round the Moon and sent back the first photographs of the far side.

1. According to the passage, Sputnik 1 ----------------- :
a. was a satellite without anyone inside it
b. weighed 83.6 kilograms
c. carried a radio transmitter on the ground
d. was a capsule which went into earth orbit

2. The word " artificial" in the first paragraph is closest meaning to --------------------- :
a. special b. economical c. unnatural d. unusual

3. Which sentence about Sputnik 1 is NOT true?
a. Sputnik 1 was first launched by the Russians
b. Sputnik 1 was much bigger than Sputnik 2
c. The capsule of Sputnik 1 went into the Earth carrying a radio transmitter
d. Sputnik 1 was followed by another Sputnik carrying a dog

4. The passage point out that the Russians got to the Moon with ------------------- :
a.Lunal b. Luna 2 c. Luna3 d. Luna 4

5. The best title for the passage would be ---------=-=-=-=-=-------- :
a. International Geophysics b. Russian Sputniks
c. Types of Satellites d. First Steps in Space
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Passage 3 — (MY (o2L))

The railway made it possible to carry goods and people overlad for long distances at high
speed. Railways were first built in Great Britain and in the 19th century, as the Industrial
Revolution developed, the railways were the most important and fastest growing form of
transport.

There were railways long before there were railway engines or "' locomotives. As early as the
16th century, wagon-ways made of wooden rails were used to convey wagons loaded with coal
from the mines in Durham and Northumberland in northeast. It was found that horses could pull
heavier loads along a smooth track than a rough road.

Later, iron plates were used to protect the wood and around 1800 L-shaped rails came into use
for guiding the wagon wheels. These " plate ways" and " tramways" were also used in South
Wales and it was there in 1804 that the Cornish mine owner Richard Trevithick worked on a
steam locomotive able to pull a load of 20 tones (22 US tons). With the development of the steam
engine, the was open for the start of the railway age.

1. The passage is mainly about ------------------- :
a. the railway engine b. the wagon wheels
c. the Industrial Revolution d. the development of railways

2. Which sentences about railways is NOT true?
a. Railways carried people at high speed
b. railways made it possible to carry things far away
c. There were railways and then railway engines were made
d. The railway was built in Great Britain long after the Industrial Revolution

3. The word "convey" in the 2nd paragraph is closest in meaning to ------------------- :
a) carry b) stretch c) control d) follow

4. As wagon-ways made of wooden rails were used , -------------------- :
a) iron plates were protected by the wood
b) railways engines were used to convey the rails
¢) horses were found to pull heavier loads along smooth tracks
d) the mines in Durham and Northumberland were found

5. What happened when the steam engine was made?
a) The railway age began
b) L-shaped rails came into use to guide the wagon wheels
c) The " plate ways" and " tram ways" were used in South Wales until 1804
d) Richard Trevithick worked on a steam locomotive weighing 20 tones

6. The passage is mainly about ------------------- :
a) the railway engine b) the wagon wheels
¢) the Industrial Revolution d) the development of railways
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Passage 4 — (AV 3ldl)

Some children require programs of special education and may have to attend special schools,
where what is taught and it is taught is different from what is available in regular schools. There
are different types of special schools. Special schools exist for children who are deaf (or partially
deaf); for the blind (or partially visually handicapped); for mentally related children; for
physically handicapped children; and for children with behavioral problems. In some countries
there are also schools for clever children, those who are either exceptionally intelligent or
artistically or musically talented.

In Western Europe and the United Stated, the first programs of special education were
developed during the late 18th and the 19th centuries, but were not widely available. These
schools were residential (boarding) establishments, and were often in the countryside. These
meant that the children who attended them rarely mixed with other children.

1. The first paragraph is mainly about ----------------------- :
a. special schools b. school programs
c. deaf and blind students d. the uses of special education

2. According to the passage, which of the following is NOT true?
a. There are some children who need to go to special school.
b. The method of teaching is different in the two kind of schools.
c. What is taught in special schools is different from that of regular schools.
d. There are some schools for especially clever children all over the world.

3. According to the passage, special schools are only for -------------=--=------ ?
a. deaf and blind children
b. handicapped or talented children
c. children who have artistic and musical abilities
d. children who have mental and behavioral problems

4. The first programs of special education in the West -------------------- :
a. lasted for 100 years
b. began in second half of the 18th century
c. were developed outside the United States
d. were free for most people to benefit from

5. Which one is NOT a feature of special schools?
a. Everybody had access to them
b. They were often in the countryside
c. They were boarding schools
d. Children in such schools were rarely in contact with other children
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Passage 5 — (A 3ldl)

The Pre-Raphaelites wanted to paint naturally and study every detail carefully, as the early
Netherlands painters had done; but they mostly turned away from the life around them. If they
painted landscape, for instance, they were apt to go to distant places where no railways or
factories were to be seen. Holman Hunt, for example, went to the Holy Land in order to paint
scenes from the Bible with perfect accuracy.

In France the more revolutionary painters did the opposite. Instead of painting in great detail,
they painted broadly, with great sweeps of the brush, and increasingly, they painted the life of
France in their day. Gustavo Courbet, for instance, painted landscape, still-life, and every kind of
scene from the life both of well-to-do farmers and of peasants. Jean Francois Millet painted
mostly peasants, often working in the fields. A school of landscape painters settled at Barbizon,
not far from Paris, and painted scenes in the forest around them. They were known as the
Barbizon painters.

1. According to passage the early Netherlands painters------------------- :
a. painted naturally
b. Paid attention to the life around them
c. copied the style of the Pre-Raphaelites
d. Painted much better than the Pre-Raphaelites

2. The word “apt” in the line 3 is closet in meaning to --------------------- :
a. safe b. calm C. aware d. Ready

3. Which group of painters painted broadly?
a. the early Netherlands
b. The Pre-Raphaelites
c. more revolutionary
d. Landscape painters

4. Gustavo Courbet is mentioned as an example of painters who --------------------- :
a. were rich and painted just for fun
b. showed interest in the life of France in their day
c. lived in forests to find good science for painting
d. considered landscape as unsuitable for painting

5. The passage is mainly about ------------------------- :
a. some schools of painting
b. scenes from Bible
c. The Netherland painters

d. the Pre-Raphaelites painters
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Passage 6 - (Jg) (e - AS b))

John Milton (1608-74) is usually thought of as the greatest of all English poets after
Shakespeare. His most magnificent poem is Paradise Lost 1667), which tells the story of God’s
dealing with mankind, from the creation of the world, as told in Bible.

Milton was born in London and went to St. Paul's School, where he was so eager to learn that,
he said, " From the twelfth year of my age | scarce ever went to bed:s before midnight™. At 16
he went to Christ's College, Cambridge, and when he left after more than seven years, he settled
down to continue studying in a Buchinghamshire village called Horton. Already he knew that he
wanted to write a great poem and he believed that to do this he must be not only a learned man
but also a good one.

Although he was not ready yet to begin his great task, Milton did write other poems while he
lived at Horton. Among them were L'Allegro and Il Penseroso (both 1631-32). L'Allegro
described the things that a cheerful man likes and Il Penseroso the thing a serious man likes. Also
written at Horton were Comus (1634), a masque in praise of purity, and Lycidas (1637), a
beautiful, sad poem lamenting the death of Edward King, a fellow-student who had been
drowned.

1. The passage is mainly about ----------====---=--=--- :
a. Milton's early life
b. Milton's life and work
c. the way the Bible influenced Milton
d. why Shakespeare is considered a better poet than Milton

2. The passage points out that Milton started his school -------------------- :
a. when he was 10
b. At St. Paul’s school
c. In Christs College
d. because he lived in London

3. From the sentence, “I scarce ever went to bed before midnight”
We conclude that Milton ------------------------ :
a. had sleeping problems b. stayed up studying
C. was not tired d. loved the night time

3. After more than seven years at Christ’s College, John Milton ------------------------ :
a. was not interesting in poems yet
b. Believed that he had to be a learned man
c. settled down to continue studying in Horton
d. felt he needed peace and quiet

4. Which statement about Milton’s poem is Not true?
a. Milton did not write any poems while he was in Horton
b. L’Allegro described the things that a cheerful man likes
c. Il Penseroso described the things that a serious man likes
d. He also wrote, Comus, a masque in praise of purity and Lycidas
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Passage 7 — (ps° (e - AS ia)

Even when asleep the body needs energy. The more active a person is; the more energy the
body uses. The energy comes from the chemical " burning” of carbohydrates, fats, proteins, and
certain other substances such as alcohol.

The energy values of different foods can be measured by burning them in a special small
oven called a calorimeter. Energy in food is often measured in calories. One kilocalorie, usually
written as kcl or Calorie (with a capital 3), is the amount of energy required to raise the
temperature of one kilogram of water by 1° Celsius. In fact, the Calorie is a unit of heat, not
energy. In the modern system of measurements, energy is measured in joules. (1 Calorie equals
4.2 kilojoules.)

You can find the calorie content of almost any food by looking in a slimming magazine or
book. An adult need, on average, a little under 3000 Calories a day. A manual worker would
need 4000 or more, because of the energy used in physical activity. Children, who are growing
and also very active, need extra Calories as well. As people become older they need fewer
Calories, partly because they are physically less active and partly because some of their body
tissues become chemically less active.

1. The best title for the passage is ------------------------ :

a. Carbohydrates b. Energy and Food
c. Fats and Proteins d. Chemical Burning

2. According to the passage, the energy values of foods can be measured by ------------=--------- :
a. chemicals
b. the use of boiling water
c. the activity of the person
d. burning them in the calorimeter

3. The passage point out that Calorie is actually a unit of -----------------—-—--- :
a. heat b. joules C. energy d. Celsius

4. Which of the following is likely to need fewer Calories?

a. Adults b. Manual workers c. Women d. Old people
5. 12.6 kilojoules equal ----------------------- calories.
a.l b.2 c.3 d.4
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Passage 8 — (AN (92L))

When people today speak of cartoons, they usually mean the comic drawing which appear in
almost every newspaper and magazine, drawings of some scene or situation intended to be funny.
Some newspaper cartoons, of course, especially the ones about politics, are critical; they explain
a significant or interesting event of the moment in a way that shows up its importance. They often
contain caricatures enlarged and comic portraits of real people (politicians for instance) — for if a
cartoonist wants to criticize a political leader or show that he dislikes him, one of the best ways
to make him look silly and funny in a cartoon.

Another use of the word cartoon means the kind of ' strip cartoon" in newspapers and comics
which tells a story in a set of little pictures. Some strip cartoons do not have words; others include
conversations in the drawing in areas called " balloons". Cartoon film, such as those Walt Disney,
are " animated cartoons", that is, they are films made from a great number of separate drawings
photographed one after another and shown very quickly on the screen so that the figures on them
seem to move.

1. Which kind of cartoons has a more serious purpose?
1) portraits 2) politic cartoons
3) strip cartoons 4) cartoon film

2. In the phrase “strip cartoon”, “strip” means ---------------------- :
1. a balloon 2. drawing 3. without words 4. a narrow piece

3. Which sentence about the passage is NOT true?
1) Comic drawings of some scene or situations make us laugh
2) Some cartoons explain a significant or interesting event
3) Some people believe that cartoons are anything which makes us laughs
4) Most cartons which appear in magazines or newspapers make us laugh

4. The cartoon films made by Walt Disney are ---------------------- :
1) Cartoons strips 2) included in cartoons
3) not a number of moving figures 4) not based on one drawing

5. The best title for the passage can be ------------------ :
1) making Cartoons 2) kinds of cartoons
3) Newspaper Cartoons 4) Magazine Cartoons
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Passage 9 — (o) &fie A 3Ludl)

Robert Adam was the son of an architect, William Adam, and he had three brothers who were
also architects. The building he designed with them were simple and well-arranged outside, and
the large room inside were beautifully shaped and decorated. He made the shape more interesting
by having corners and curved walls, or sometimes a row of columns across one end. The ceilings
and walls are beautiful patterns plasterwork, which were painted in light colors. As well as
designing the houses and decorating the rooms, Robert Adam also designed the furniture to go in
the rooms. The furniture, the mantelpieces, the door handles and even the keyhole covers were
all carefully designed and made. Much of his work was done inside existing houses, such as Syon
House, near London. His best country houses, such as Kenwood, in London, and Harewood
House, in Yorkshire, were built from 1760 to the early 1770s.

Adam studied architecture abroad while on the Ground Tour to Italy. He was especially
interested in the house in the Roman city of Pompeii and he copied their decoration in his designs.
He established himself in London in 1758 and was later joined by his brother James. When Adam
made a design for plasterwork decorations it could be used in several houses, since the moulds
which shaped the plaster could be used again.

1. According to the passage, which sentence is NOT true?
a) Robert Adam used the Italian architecture
b) William Adam decorated buildings abroad
¢) Adam studied architecture in a foreign country
d) The buildings Adam designed were curved in some parts

2. According to the passage, much of Adam's work was done ------------------ :
a) from 1760 to 1770 b) in the roman city
c) inside his best country houses d) inside existing houses near London

3. Decoration in Adam's design was copied from ------------------ :
a) his brother's work b) the houses in Pompeii
c) the houses in London d) the best houses in England

4. Adam was able to use the decoration designs more than one because he ------------------ :
a) could establish them himself
b) designed them more than once
c) made several plasterwork decorations for houses
d) used the moulds which could be used many times

5. The best title for the passage could be ------------------ :
a) The History of Architect b) William's Adam’s best work
c) Robert Adam as an Architect d) The Best and Most Famous Architects
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Passage 10 — (a2 (e A 3Ll

Most shoes are made to the basic design of a thick under part known as the sole, which takes
the wear and tear of walking, and a thinner upper part which encloses the foot. However, as shoes
are made to suit people living in climates ranging from tropical to very cold, and as they are also
made according to fashion, a tremendous variety of shoes has been produced throughout the ages.

Today it is mainly women's shoes that are made to different patterns from year to year- men's
shoes change much less, although in past centuries they have varied as much as women's. Most
of the people of the ancient world wore sandals with soles of leather or wood. They have been
found in the tombs of the ancient Egyptians. The Greeks wore shoes for the bath and high boots
for hunting. These were also worn by the Minoans of Crete and by Romans. In the middle ages,
shoes were pointed but comfortable, for they were cut from soft leather of cloth to fit the shape
of the foot.

1- The passage is mainly about -----------=---=------ :
a) shoes for men and women
b) the variety of fashionable shoes
¢) shoes in different climates and periods
d) the designs of shoes in the ancient world

2. In the Middle ages ---------------=------- :
a) shoes were as soft and sharp as leather
b) shoes were small but comfortable
c) people liked their feet to feel relaxed
d) people's feet were fit for shoes

3. According to the passage, which sentence is NOT true?
a) Women wore more shoes than men
b) Men's shoes are less various than women's
c) Shoes are different depending on climates
d) The Greeks wore different shoes for different purposes

4. The word " They" in line 6 refers to -------------------- :
a. women's shoes b. patterns c. men d. men's shoes

5- The word “tremendous” in line 4 is closest in meaning to ---------------------- :
a. small b. beautiful c. large d. little
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Passage 11 — (A% (o2L))

One of the reasons why human beings have become such a successful and dominant
species in the world is because of the ability we have to cooperate with each other, to work
in groups. Groups may form for a wide variety of purposes, some informal, such as a
gathering of friends, others formal such as a committee. Formal groups often develop strict
rules about procedures. A committee may appoint a chairperson, a secretary, and a treasure.
The group will have rules about how a meeting is to be conducted. After the meeting a
formal record of what happened will be made and distributed to members. Some groups of
this sort, such as a commercial company, will have an order in which communication
confirms to rules, a person may be given orders by someone above, and then pass orders
down to someone below.

People will communicate with those above them in the grading, those below them, and
those on the same level as themselves. Even in an informal group, communication is
always more complicated than it is between two individuals. Some people feel very
nervous when they are in a group; They might either keep quiet and say nothing at all, or
else they may start speaking and never want to stop. To work well in a group, you have to
learn to listen as well as to speak, and you must be prepared to change your mind, or to
agree to cooperation with other people present. No group works well if its members are
selfish and stubborn.

1. What is the best title for the passage?
a) Secrets of social life b) Formal and informal groups
¢) Communication of Dominant Species d) Human Relations in Groups

2. The word "it"" in paragraph 3 refers to ----------------------- _
a) formal group b) individual C) communication d) informal group

3. The word ‘strict’ in paragraph 2 is closet in meaning to ----------=----=------ :
a) correct b) exact c) perfect d) private

4. What is the main idea of the second paragraph?
a. people should learn how to hold a meeting
b. in companies, orders are given to people in a strict way
c. in formal groups, people only communicate with those above them
d. Members of formal groups cooperate with each other according to certain rules

5. It can be understood from the passage that to communicate well in a group, you need to ------- :
a. be open the idea different from yours b. learn how to make all members think like you
c. listen better than you speak d. agree with all the selfish and stubborn members
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Passage 12 — ( A=)

Books that tell children about the lives of real people, or about real things in the world, are
nowadays not at all dull and not at all like lesson books. One of the best of life stories, or
biographies, of famous people is Mother Teresa by Ann Sebba. Other similar books are A Hand
Upon time (about Charles Dickens) and Mountbatten: Hero. Some books are a part of a series,
each title a separate biography of some famous person.

There are many books about people who live ordinary lives but who represent the changing
face of the world. There are books about people who have led their countries through times of
great stress, and about people who work for and within a particular belief. People have differing
interests in life, and there are a great many books available to cover most hobbies and leisure
activities. Subjects such as music, painting, camping and crafts and covered for various age —
groups, so that readers should always be able to find something of interest.

1. What is the subject of the passage?
1. books 2. Real things in the world
3. Famous people 4. Biographies

2. According to the passage, Mother Teresa is ------------------ :
1. a life story 2. not a biography
3. a character of a little book 4. a book about the life of common people

3. The word “represent” in the first paragraph is closet in meaning to -------------------- :
1. enhance 2. include 3. produce 4. Show

4. Which sentence is NOT true?
1. There are many books about people who live ordinary lives but who represent world changes
2. There are books related to people’s hobbies
3. A Hand Upon Time is a book which is written by Charles Dickens
4. There are books about people who have led their countries in times of great stress

5. The writer believes that reason why there are books about music, etc. is that ----------- :
1. people have the same interests in life
2. there are a great many books available
3. people work for and within a particular belief
4. because readers do not have the same areas of interest
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Passage 13 — (Js) ¢hia AA (3 y=x5)

According to the modern western calendar, the year is divided into 12 periods known as
months; some of them have 31 days, some 30 days, and One-February has 28 days, except in leap
years, when it has 29. How ever., months have not always been 12 of them in the year. The word
"month™ is connected with the word " moon", and when the ancient people first made calendars
a month was measured by the length of time from new moon- this is about 29.25 days. The month
then began when the new crescent moon was first seen in the sky at sunset and the lengths of the
months were either 29 or 30 days.

This did not produce an accurate calendar and, therefore, the system was dropped. Our present
months, with their different numbers of days, do not correspond to any movements of the
heavenly bodies. Sometimes when people use the word "month™ they mean any period of 28 days
which may easily occur in two different months so far as the calendar is concerned. Therefore,
whenever it is necessary to distinguish between the two uses of the word, the months as shown
on the calendar are often spoken of as calendar months.

1- Which sentence about the month is NOT true according to the passage?
a. the days in a month range from 28 to 31
b. There are often 28 days in February
c. The year was once divided into twelve 29.25- day months
d . There have been 12 months in a year since ancient times

2- According to the passage, the length of a month --------------------- :
a. is about 29.25 days
b. is divided into 30 days
c. has some connection with the length of the moon
d. was related to new moon

3 - The word “correspond” in the 2nd paragraph is closest in meaning to -------------------- :
a) explain b) stretch c) relate d) include

4- When the new crescent moon was seen in the sky at sunset ---------------------- :
a. the month did not last 31 days
b. the system was dropped completely
c. it did not produce an exact calendar
d. our months were not in agreement with the movements of any heavenly bodies

5- The writer believes that calendar months are --------------------- :
a) any period of 28 days
b) those seen on the calendar
¢) those which occur in two different months
d) based on the way most heavenly bodies move
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In all societies of the population is labeled as "old". What is different from place to place is
the age at which people are considered old, and the old way people are regarded. In modern
industrialized societies, old age begins at 65- 70; in contrast, in the 19th century old age began at
55. In many poor countries, where people’s life expectations are much lower, someone as young
as 40 may be an old person. In some societies elderly people are thought of as wise and
experienced, and they may even be the leaders of the community. But in the Western societies,
the elderly is sometimes disregarded.

Having reached a certain age, somewhere between 60 and 70, they may be expected to
retire from their jobs, even if they are still able to work efficiently. Gradually their ties with the
community are released, and in many cases, they live in communities made up entirely of old
people. The rapid ageing of the populations of all the industrialized countries is due not only to
people living longer, but also to a sharp decline from the 1970s in the number of babies being
born. Women tend to live longer than men, so that in 1985 for every 100 women over the age of
70, there were only 63 men. It is also true that the better-off members of the society can expect
to live longer than the poorer, since they are generally better fed and have superior medical care.

1- According to the passage, -----------==--=----
a. people are considered old depending on thelr country
b. 200 years ago, an old person was at most 55
c. Someone as young as 40 is usually called an old person
d. People in modern industrialized societies die sometimes between 65 and 70

2- The phrase "'retire from™ in the 2nd paragraph is closet meaning to -------------------- :
a. do b. leave 3. transfer d. experience

3- According to the passage, the rapid ageing of the populations is -------------------- :
a. more related to women
b. observed in industrialized
C. common in poor societies
d. specially observed in all Western societies

4- Which sentence is NOT true according to the passage?
a. Women may live longer than men
b. sometimes between 60 and 70, some people stop working
C. very young population are decreasing in poor societies
d. The better- off members of the society can expect to live longer than the others

5- The passage is mainly about ---------------------- :
a. old age b. population size
c. different kinds of societies d. the number of babies in different societies
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Before Columbus came to the New World, the only people there were Indians. Some of the
early explorers treated the Indians very badly. But there were some who were good to them.
Father Marquette was one who treated them well. Marquette was a French priest. He came to
Canada as a missionary, a person teaching Christianity.

At first Father Marquette stayed at a mission near the east coast. He learned the language of
several Indian tribes. Then he decided to go west and preach to the Indians who lived near the
Great Lakes. From these Indians heard of great river farther west. The governor of New France,
the French lands in the New World, had heard of this river, too.

He decided to send an expedition to find out about it. The governor chose Louis Joliet, a trader,
to lead this expedition. He then asked Father Marquette to go with Joliet as a missionary. Joliet
and Marquette reached the Mississippi by traveling down the Wisconsin River in light boats.
They were pleased to see the great river. On their journey along it they stopped at many places.
Everywhere the Indians were friendly.

1. According to the passage, which sentence is NOT true?
a) Marquette favored religious beliefs.
b) Father Marquette was kind of the Indians.
c) Some of the early explorers treated the Indians badly
d) Columbus was the only person who came to the New World before the Indians.

2. Father Marquette learned the language of several Indian tribes in order to ------------- :
a) live near the Great Lakes
b) go to the great river father west
C) stay at a place near the east coast
d) preach to the Indians near the Great Lakes

3. The word " expedition" in the 3rd paragraph is closest in meaning to ....
a) journey b) occasion c) distance d) destination

4. When the governor of New France heard of the river, he ...
a) made Louis Joliet stop expedition
b) chose Marquette while the government chose Joliet
c) decided to send a group of people to find out about it
d) asked Marquette and Joliet to travel alone

5. The best title for the passage would be ....
a) Marquette as a missionary b) Marquette in Canada
d) The Governor of New France d) Columbus in New World
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A very long time ago, people did not have money. They traded animals and crops for things
they wanted. In China, in about 1200 B.C., People traded Shells and metal tools for the things
they wanted. For example, they traded metal Knives and Shovels for the things they needed. Later
for in china, people made metal money. In about 100 B.C., the Chinese made money of animal
skin. The first paper money was made from white colored deer skin. It came from china about
900 years later.

In about 700 B.C., people made the first-round metal Coins. The coins were made of gold
and silver. They looked very similar to the coins we use today. These coins came from Lydia.
Lydia was located where the country called turkey is located today. After people made coins in
Lydia, people in Rome, Iran, and Greece also began making coins. Coins were very durable —
they were strong and could last a long time without becoming damaged. Wampum are necklaces
made from beads and seashells. The beads had holes in them. People put beads on Strings.
American Indians used wampum for money in the 1500’s.

Money Changes what time. No matter what it is looks like, money is an idea. It is the thought
that people can trade Something they have for something they want. Money makes trading
easier.

1. what is the passage mainly about?
a) History of money
b) importance of money
¢) money in ancient China
d) why people Spend money

2. where was the first paper money made?
a) Rome b) Lydia ¢) China d) Greece

3. what does “them” in line 12 refers to?
a) Holes b) Beads ¢) Wampum d) Seashells

4. which of the following words is defined in the passage?
a) Deer b) Shovels c) Durable d) Strings
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The game is played for four quarters of 15 minutes each or two halves of 20 minutes each. Playing
time may be Shortened for schools or for a series of matches Played in one day. Two referees
control the game, keep the score, and keep time except in internationals.

To start the game, one of the centers passes the ball from small centers circle. This is called
a center pass and is also used for restarting the game after a goal. One of the attacking teams (the
team taking the center pass) must touch or receive the center pass within the center third. After
that the ball is thrown from player to player until goal shooter or goal attack receives the ball is
in the Shooting circle and tries to score.

The players may not walk or run while the ball in their possession, or hold it for more than
three seconds. The ball may be thrown or bounced to another player but not rolled or kicked. A
player may bounce or bat the ball once before catching it. the ball may be caught while it is in
the air but a player may not take the ball out of another player’s hands or contact (touch) his in
any way. A player standing the correct distance away may block the movement of a player or the
flight of the ball. the ball may not be thrown over a complete third of the court. If a player of one
team sends the ball out of court, it is thrown in by one of the other team. When a rule is broken,
either a free pass or a penalty pass is given to the other team.

1. The passage is primarily written to --------------------- :
a) explain some rules b) advertise something
c) make some suggestions d) describe the function of a game

2. When one of the centers passes the ball from the small center circle --------------------- :
a) the game actually begins
b) the game has to be repeated
c) the ball thrown from player to player in the shooting circle.
d) the team in the center circle touching the center pass within the center third.

3. How long are the players on the court playing the game?
a) 55 minutes b) 35 minutes ¢) 80 minutes d) 60 minutes

4. What happens after a goal is scored?
a) a player may send the ball out court.
b) the ball is bounced to the goal shooter.
c) the ball is passage from the small center circle.
d) the team taking the center pass receives the center pass within the center third.
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The idea of being employed, or working in exchange for money paid as salary or wages, is a
relatively recent one. It started fully with the industrial Revolution in the 1760s. thousands of
years before then, when primitive tribes wandered the Earth, everyone — man, woman, and child
— worked just to survive, by hunting, gathering food, making clothes, cooking, looking after
babies, and handling the houses.

When the first civilizations developed, a form of employment was forced on people without
their choice. It was called slavery. Slaves were not paid for their work, and were vital to the
economy of early civilizations such as Egypt and Greece. In later centuries Slaves played a key
role in the economy of European overseas colonies from the 16th. Century onwards, as well as
in the cotton economy of the southern united State up to the American Civil war in 1861. Slaves
were forced to work at anything their masters ordered them to, be it field work. Housekeeping,
or road building. Slaves were often worked till dropped dead, and were beaten if they refused to
work.

Another form of employment called farming emerged in the Middle Ages in Europe.
Farmers were employed by lords to work the land for the lord’s benefit. In return they received
shelter and a small plot to farm for themselves. They could not leave the lord’s estate nor
change their employment if they wanted to. Like slaves they were not paid money in return for
their Labor.

1. the passage is mainly about
a) the history of employment
b) the industrial Revolution
¢) employment in the first civilizations
d) slavery in the American civil War

2. According to the passage, in primitive time -------------=--=-----—-- :
a) Employees worked without force
b) people worked by hunting animals
c) were no longer important in the 16th century
d) had on important role in European colonies

3. in the Middle Ages, farmers ---------=-=---mmnmnmeu-- :
a) were paid very little very little money
b) were given places to live in
¢) could not have their own land
d) were allowed to change their jobs

"Guax Jloz" 15)910,8 9 Ll " Cdlae )" I 4 (3 6K5ewl (L) Kal) tend duds A9 )5S Sy 2o 66




Passage 19 - (% ¢ (o2L))

Weather describes conditions, such as rain, wind, and sunshine, that occur during a short
period of time in a particular place; climate is the overall pattern of weather in a region. From
one moment to the next the weather can change. A warm, sunny day can be overtaken by a violent
storm. Dark clouds form, high winds blow, and rain lashes the ground, yet it may be only a few
minutes before the sunny weather returns. However, in some parts of the world, such as in parts
of the tropics, the weather barely changes for months at a time. There it is always hot and heavy
rains fall. Meteorologists are scientists who measure and forecast the weather.

They do this by studying clouds, winds, and the temperature and pressure of earth’s
atmosphere. But despite the use of satellites, Computers, and other technology in weather
forecasting, weather remains a force of nature that is hard to predict. Several thousand weather
stations on land, ships, and aircrafts measure weather conditions around the world. The stations
contain instruments that record temperature, rainfall, the speed and direction of wind, air pressure,
and humidity (the amount of water vapor in the air). Balloons called radiosondes carry
instruments to take measurements high in the air. Weather satellites in space send back pictures
of the clouds.

1. which of the following is TRUE about the difference between weather and climate?
a) weather refers to predictable atmospheric conditions.
b) Climate refers to conditions such as rain and wind.
c) weather is a fixed climactic pattern in a region.
d) Climate refers to a more constant condition.

2. According to the passage, which of the following do meteorologists NOT do when
forecasting weather?

a) they study clouds.

b) they study winds.

c) they go high in the air in special balloons.

d) they examine the pressure of Earth’s atmosphere.

3. what does the word “barely” in line 6 mean.
a) Never b) Often c) Seldom d) Occasionally

4. which of the following is Not true?
a) weather stations are not built on land only.
b) weather stations contain highly advanced equipment.
c) Radiosondes are balloons that take certain tools high in the air.
d) Computers and satellites make it possible to predict weather without any difficulty.
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Every cloud is made up of millions of tiny droplets of either water or particles of ice floating
together in the air. The air always conditions a certain amount of water vapour (that is, water in
the form of gas), which is invisible. The amount of water vapour that air can contain depends on
the air’s temperature; the cooler the air, the less water it can hold.

When air cools, some of the water vapour will eventually condense; that is, it will form tiny,
visible water droplets. If these are on the ground, we call them dew, if near the ground we call
them fog or mist, and if they are up in the sky, we call them clouds. When the water droplets are
first reduced, they measure only a fiftieth of a millimeter across and are light enough to float in
air. If the air goes on cooling, the drops get bigger and many falls as rain.

When air rises it cools, so when warm, moist air is forced to rise, clouds are likely to form.
Mountains cause air to rise and thus mountainous lands are often cloudy. Air may also be forced
upwards through intense heating of the lend or by the meeting of two masses of air, one cold and
the other warm and moist. The warm air rises up over the cold air, causing it to cool and clouds
to form. Once clouds have formed, they will remain until the air is warmed or rain falls.

1. The amount of water vapour that air can hold depend on
a) tiny droplets b) vapour’s temperature
c) temperature of the air d) particles of ice in the vapour

2. According to the passage, very small visible water droplets on the ground are called ------------ :
a) dew b) fog C) rain d) cloud

3. Which statement about clouds is NOT true?
a) once clouds have formed, they will remain until the air is warmed and rain falls.
b) when air rises, it cools, so when warm, moist air is forced to rise, clouds are likely to form
¢) when the air goes on cooling, water drops get bigger and may fall as rain.
d) when warm air rises up over the cold air, it gets warmer and clouds are formed.

4. According to the reading, mountainous areas are often cloudy because in these places ---------- :
a) warm air rises up over cold the cold air
b) two masses of warm air meet
c) they are usually on the way of rain carrying winds
d) water droplets are of enough weight for cloud formation.
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Leonardo da Vinci was born in 1452 in the area of Florence, Italy. He did many things. He
was a scientist, inventor, musician, mathematician, and architect. He knew about animals and
plants, too. He could do many things well. Leonardo was famous for his painting, and many
people know about them. He started working on the Last Supper in 1495 in Milan and finished it
in 1498. He started working on the Mona Lisa in 1503 in Italy and finished it a short time before
he died. It is now in France.

Leonardo’s paintings were very good. He understood how human bodies worked. Besides,
he knew how happy or sad people looked because he knew how emotion looked on people’s
faces. Since he understood nature, light, and shadow, his paintings looked real. Leonardo had
many ideas for inventions. He drew plans for a helicopter as well as a tank. He even had an idea
for a calculator. He had an idea for making solar power, which is power that comes from the sun.
Leonardo lived at the same time as Michelangelo and Raphael. He was 27 years older than
Michelangelo and 31 years older than Raphael. Leonardo died in 1619.

1. According to the passage, which of the following was Leonardo NOT good at?
a) Art b) biology ¢) Chemistry d) Psychology

2. What does the word “them” in line 4 refer to?
a) many people
b) Animals and plants
) All Leonardo’s paintings
d) Mona Lisa and The Last supper

3. Which of the following can be concluded from the passage?
a) Mona Lisa took a longer time to finish than the Last Supper.
b) Leonardo painted Mona Lisa when he was still young.
¢) Leonardo finished Mona Lisa in a short time.

d) Leonardo painted Mona Lisa in France.

4. Which of the following do we understand about Leonardo?
a) He never thought of inventing something that could be used during war time.
b) He was interested in finding ways of obtaining energy from the sun.
c) He was aware of all-natural elements when made He an invention.
d) He died when the famous artist Michelangelo was only 27.
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Before the invention of the postage Stamp, it was difficult to send a Letter to send to another
country. The sender paid for the letter to travel in his or her own country. Then the person in the
other country paid for the rest of the trip. If a letter crossed several countries, the problem was
WOrse.

Ronald Hill, a British teacher, had the idea of a postage stamp with glue on the back. The
British post office made the first stamp in 1840. They were the penny Black and the Two pence
Blue. A person bought a stamp and put it on a letter. The post office delivered the letter. When
people received letter, they didn’t have to pay anything. The postage was prepaid.

Postage stamps become popular in Great British immediately. Other countries started making
their own postage very quickly.

There were still problems with international mail. Some countries did want to accept letters
with stamps from other countries. Finally, in 1874, a German organized the universal postal
Union (UPU). Each country in the UPU agreed to accept letters with prepaid postage from the
other members. Today, the offices of the UPU are in Switzerland. Almost every country in the
word is a member of this organization. It takes care of any international mail problems. Today,
post offices in every country sell beautiful stamps. Collecting stamps is one of the most popular
hobbies in the world, and every stamp Collector Knows about the penny Black and the Twopence
blue.

1. It can be understood from the passage that sending letters to people in other countries --------- :
a) was made possible after the invention of the postage stamp
b) is no longer a practical and economical way of communication
c) existed even before the invention of the postage stamp.
d) is the source of income for the universal postal union

2. The penny black ------------=-------- :
a) appeared in the first half 19th century
b) appeared after the Twopence Blue turned out to be inefficient.
C) was designed to primarily solve the problem of sending letters from one country to another
d) made it possible for letter to be attached to the part of the envelope having glue on it

3. The UPU was started by ------------------- :
a) a teacher b) some European countries
c) Switzerland d) a German citizen

4. The information in the passage is mainly organized based on ------------------ :
a) listing positive and negative points of a development
b) describing events in the order of their happening
¢) analyzing the effects of an invention
d) comparison and contrast
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No one knows who invented pencils or when it happened. A Swiss described a pencil in a
book in 1565. He said it was a piece of wood whit lead inside it. (Lead is a very heavy, soft, dark
gray metal). Pencils weren’t popular, and people continued to write with pens. They used bird
feathers as pens.

Then, in 1795, someone started making pencils from graphite, they became very popular.
Graphite is like coal. (coal is black, and we burn it for heat and energy.) today, people make
pencils in the same way. They grind the graphite, make it into the shape of a stick, and bake it.
Then they put it in side a piece of wood. One pencil can write 50.000 English words or make a
line 55 Kilometers long.

People wrote with feather pens and then used pens with metal points. They had to dip the point

into ink after every few letters. Next, someone invented a fountain pen that could hold ink inside
it. A fountain pen can write several pages before you have to fill it again.
Two Hungarian brothers, ladies and Georg Biro, invented the ballpoint pen. They left Hungry
and started making ballpoint pens in England in 1943, during world war Il. English polite liked
the pens. They couldn’t write with fountain pens in airplanes because the ink leaked out. Later,
a French company called Bic bought the Biros company.

Some people call ballpoint pens “Bics”. Australians call them “biros”. Whatever we call them,
we use them every day.

1. What is the best title for the passage?
a) Advantage of pens
b) a Big Change in Writing Style
c) A Brief History of Pencils and pens
d) the Most important Human invention

2. Which one of the following Statements is TRUE about graphite, according to the passage?
a) it is used to produce energy for warming people.
b) it is a material from which coal is made.
¢) it naturally comes in the shape of sticks.
d) it is used in the manufacture of pencils.

3. Why does the author mention “pilots” in the passage?
a) To show an advantage of a specific kind of penal
b) To introduce the true inventors of ballpoint pens
c) To tell the reader that need is the mother of invention
d) To discuss the role of writing in the development of airplanes

4. The phrase “the ink” in paragraph 4 is the ink -------------------
a) Inside the pens that were actually made by the two Hungarian brothers
b) Inside the fountain pens pilots used for writing while flying their planes
c¢) English pilots began to use after they got ballpoint pens
d) produced and supplied by a French company Known as Bic
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Weather forecasting is the use of sciences and technology to predicate the state of the
atmosphere for a given location. Human beings have tried to predicate the weather informally for
thousands of years, and formally since the nineteenth century. Weather forecasts are made by
collecting quantitative data about the current state of the atmosphere on a given place and using
scientific understanding of atmospheric processes to predict how the atmosphere will be on that
place.

Once an all — human endeavor was mainly based upon changes in barometric pressure, current
weather conditions, and sky condition. Weather forecasting now relies on computer — based
model that considers atmospheric factors. Human input is still required to select the best possible
forecast model to base the forecast upon, which involves pattern recognition skills,
telecommunications, knowledge of model performance, and knowledge of model biases. The
ever — changing nature of the atmosphere, the great computational power required to solve the
equations that describe the atmosphere, error involved in measuring the initial conditions, and an
incomplete understanding of atmospheric processes mean that forecasts became less accurate as
the difference in current time and the time for which the forecasts is being made increases.

1. According to the passage, weather forecasting
a) is a new technology
b) has a long history
c) began less than 100 years ago
d) is not as effective as it used to be

2. The passage is mainly concerned with
a) the reasons why human is attracted to weather forecastmg
b) the circumstances under which weathermen make mistakes
c) a definition of weather forecasting and the way it is done
d) the early methods used to predicate weather conditions

3. What does the passage state about the role of human in modern weather forecasting?
a) Human work is a necessary
b) There is no need for humans.
c¢) Even people with no expert knowledge can do weather forecasting.
d) It now depends more on human intervention than was the case in less modern weather
forecasting models.

4. The word “which” near the end of paragraph 2 refers to :
a) processes b) forecasts c) difference d) time
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The collection of events that occur in a work of literature is called the plot. Gulliver’s travels,
for example, tells the story of Lemuel Gulliver, a Ship’s surgeon. In the first part, Gulliver is
shipwrecked in an imaginary land called Lilliput, where the people are only a couple of inches
tall. In the second tale, he meets the giants of Brobdingnag, in the third story, Gulliver visits
various strange lands. Finally, he is left among the Houyhnhnms — a race of horses that are wiser
and more intelligent than their human servants, the Yahoos. Rejected by the Houyhnhnms,
Gulliver returns to England, where he is no longer able to tolerate the company of other humans.

An essential part of most literature is the writer’s description of the characters the people who
take part in the plot. A writer portrays a character’s personality by describing how they react to
events in the story. For example, Jonathan swift shows that Gulliver is a kind — hearted man by
describing how he entertains the tiny Lilliputian people; “I would sometimes lie down, and let
five or six of them play on my hand. And at last the boys and girls would venture to come and
play hide and seek in my hair.”

Writers use their plots and characters to explore key themes such as love, death, morality, and
social or political issues. Gulliver’s Travels seems like just an adventure store, but the underlying
theme is 18th — century England, where the Lilliputians and other nationalities represent different
types of people with their good and bad qualities.

1. What is the passage mainly about?
a) What kind of people the Lilliputians were
b) Why Jonathan Swift wrote Gulliver’s Travels
) Gulliver’s Travels as a great work of literature
d) The most important elements in a work of literature

2. What does the word “tale” in paragraph 1 mean?
a) Unit 2) Part 3) Story d) Section

3. Who were the Yahoos?
a) Humans who served the horses.
b) A group of wise, intelligent horses
¢) The people Gulliver met in Brobdingnag.
d) The people that Gulliver could not tolerate.

4. What do was understand from the passage?
a) Gulliver’s Travels tells the history of 18th — century England.
b) The Lilliputians were kind — hearted people who loved Gulliver.
¢) the Lilliputian an the Houyhnhnms are Characters created by Gulliver.
d) Jonathan Swift did not write Gulliver’s Travels only to entertain people.
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Dhaka, the capital of Bangladesh, stands on the bank of one of the channels of the Ganges —
Brahmaputra delta, about 100 Kilometers (60 miles) from the sea. The city is also Known as
Dacca, there are separate articles on the Ganges and Brahmaputra Rivers. It is an ancient city
with many monuments of the 17th century Mogul period. The Lal Bagh camp was begun by a
son of the emperor Aurangzeb in 1684. There are more than 700 mosques, including one built as
far back as 1456. A Christian church was built by a Portuguese mission in 1677 at a time when
Dhaka was the capital of Bengal and a great center of trade, attracting English French, and Dutch
traders.

In the 18th and 19th centuries Dhaka lost its importance as its chief trade, that is muslin (a
soft cotton fabric), declined and another town became the capital of East Bengal for a time, and
in 1947 it became Pakistan’s eastern capital. When East Pakistan broke away in 1971 and
announced its independence as Bangladesh, Dhaka was one of the first place taken over by the
Pakistan army and one of the last to be Surrendered by it.

The capital has fine modern buildings, including a university, many schools, an airport and
hotels. Many of the new buildings are grouped round the Ramna, a large park. An industrial area
Stretches for 16 kilo meters (10 miles) to the river port of Narayanganj. Dhaka is the industrial
center of Bangladesh and the city has always been noted for its cottage industries.

1. What is the best topic for the passage?
a) Political History of Dhaka
b) Geological location of Dhaka
c) Dhaka in the 18th and 19th centuries
d) The History of Dhaka from Past to present

2. Which statement about the passage is NOT true?
a) Dacca is an ancient city whit so many 17th century monuments.
b) The Lal Bagh camp was begun by the emperor Aurangzeb in 1684.
¢) There is more than 700 mosques. Including one built in the 15th century.
d) The Christian Church was built by the Portuguese when Dhaka was economically important.

3. According to the passage, the city of Dhaka has always been noticed for its -------------- :
a) Cottage industries b) modern buildings
c) many schools d) airport and hotels

4. What happened to Dhaka in the 18th and 19th centuries?
a) its main product lost businesses.
b) it became the capital of East Bengal and a great center of trade.
c) It was the capital of Bengal and a great center of trade.
d) it attracted English, French, and Dutch traders.
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Although milk is made mainly of water, it contains nearly all the food substances needed by
the body. That is why is a valuable drink for Children and is used in so many different ways in
our diet.

Milk looks white because it contains a protein (body — building substances) called casein.
Through a microscope floating globule (Small drops) of fat can be seen in milk. The layer of
cream which floats on the top of milk is made up of fat globules. As well as casein and fat, which
can both be seen, milk also contains a type of sugar called lactose dissolved in it. Minerals,
particularly calcium and phosphorus (which are important in forming bones and teeth) and most
of the vitamins essential for life and health are also contained in milk.

Milk is Produced by all female mammals to feed their young for the first part of their lives.
All young mammals, from whales to babies, have milk for their first food. Because milk is a
useful food for adults as well as for babies and Children, people have kept animals for their milk
from very early times.

Among most English — Speaking people the cow is the main provider of milk. In Spain and
Greece, the sheep and the goat are the chief milk — producing animals. The camel provides milk
to the desert tribes of Arabia, and in Egypt the water buffalo is a source. The reindeer furnishes
milk to people living in Lapland. Mongolian tribes drink mare’s milk. In Peru the llama is a milk
— Producing animal. In tippet the people get milk from the yak. However, in certain countries,
notably china and japan, milk has never been an important part of the diet and dairy animals are
not kept.

1. What basic question is paragraph 2 refers to ---------------------- :
a) How is milk processed and produced?
b) Why does milk look like what it does?
¢) What can be produced out of milk?
d) What does milk Consist of?

2. The word “it” in paragraph 2 refers to -------------------- _
a) sugar b) fat 3) milk 4) casein

3. It can be understood from the passage that the value of milk -------------=----- :
a) was made clear to men when they observed animals’ behavior
b) is not yet know to people of different ages
c) was brought to surface due to technology
d) was known to people of old times

4. According to the passage, all of the following are true EXEPT that ------------------- :
a) People in all European countries use the cow to get milk
b) There are countries in which milk is not an essential part of their people’s diet
¢) the main animals that are used to provide milk may differ from country to country
d) the desert tribal people in Arabia actually use the camel as the source for the milk they
consume
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Zoo officials say that they are concerned about animals. However, most zoos remain
“collections” of interesting “items” rather than protective habitats. Zoos teach people that it is
acceptable to keep animals in captivity. However, animals in zoos are bored, limited, lonely, and
far from their natural homes.

Zoos claim to educate people, but in fact, visitors don’t learn anything meaningful about the
natural behavior, intelligence, or beauty of animals. Most zoo areas are quite small, and visitors
can rarely observe animals’ normal behavior in these unnatural spaces, nor can they learn much
from the labels on cages, which list only the species’ name, diet, and where it normally lives.

The animals are kept together in small spaces. With no privacy and little opportunity for
mental stimulation or physical exercise. This result in abnormal and self — destructive behavior
called zoochosis. In a worldwide study of zoos, the born free foundation study found that
zoochosis is common among animals in small spaces or cages. Another study found elephants
spend 22 percent of their time engaging in abnormal behaviors, such repealed head movements
or biting cage bars.

Bears spend 30 percent of their time walking back and forth. These are all signs of distress.
Animals, such as big cats save animals from extinction. However, zoos that bread endangered
animals, such as big cats and Asian elephants, do release them to the wild. Zoos talk a lot about
their breeding programs. One reason is to ease people’s worry about endangered species. The
other reason is to attract a lot of customers who enjoy seeing baby animals. How many contests
have we seen to name baby animals?

Ultimately, we will save endangered Species only if we save their habitats. We also need to
stop people from killing them. instead of supporting zoos, we should support groups that work to
protect animals and preserve their homes in the wild.

1. The author of the passage suggests that zoos
a) negatively affect the animals they shelter
b) change animals’ behavior as well as their natural diet
c) are unfortunately necessary and we cannot do without
d) should be brought under better control so that they would be useful

2. According to the passage, the information visitors get about animals from visiting them at zoos

a) is as much as they can get from observing animals in nature.
b) meaningful enough to be of practical use.

c) is absolutely wrong and misleading.

d) is incomplete and limited.

3. All of the following are mentioned in the passage about animals kept in zoo EXEPT that such
animals ------------------- .

a) lose their privacy

b) are not physically active enough

¢) do not get the change to be mentally stimulated

d) are often used as what researchers need to perform experiments

4. The last paragraph of the passage includes a number of --------------------- :
a) complaints b) comparison C) suggestions d) warnings
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Passage 1 (1A )94S Jss o5 - Jgl o)

The cultural context can also influence life expectancy for men and women. (Life
expectancy is the expected length of a person's life.) For example, women generally smoke
cigarettes less than men, which has been proven to cause many health problems and to shorten
lives.

Another factor that has influenced the lives of women is the lack of stress. Stress is well
known to shorten lives. Until recently, women who worked were usually in less responsible,
less stressful positions. At home, housework tends to keep women in better physical condition
than men. This generally better physical condition is yet another factor in women's longer lives.

These cultural factors have played an important part for the women who are now getting old.
But the social habits of women are changing. Young women are smoking more than women
used to. More women are working now and holding more responsible positions. These changes
may mean that the cultural context will no longer help women live healthier lives. However,
women will continue to live longer than men because of certain other factors.

93- The passage would most probably continue with a discussion 0Of ------=----=--—- :
1) why women are no longer willing to stay home and do housework
2) the reasons behind the change in different countries' culture around the world
3) factors other than cultural factors in relation to women's living longer than men
4) how a healthy lifestyle is important for both men and women in today's ever-changing world

94- 1t can be understood from the passage that the author considers cigarette smoking to --------- :
1) become more common among women than it is now among men
2) have a relationship with the amount of stress in people’s lives
3) be more harmful to women than to men
4) be a culture-related habit

95- It can be understood from the passage that men can improve their physical condition by ----.
1) doing housework
2) giving their jobs to women
3) working jobs with more responsibility
4) taking better care of their health problems

96- Which of the following statements is TRUE, according to the passage?
1) Women in the past did not smoke because it was considered a socially negative habit.
2) The difference in life expectancy between men and women is very likely to become smaller
3) Women's health problems and those of men are similar in terms of both their causes and effects.
4) If women realize their health problems are because of their new social roles, they would renew
their past habits.
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The advantages or positive points of e-readers certainly seem to be more than the
disadvantages. They are light and mobile devices that can be taken anywhere. Taking one gadget
on holiday allows us to take hundreds of novels with us without having to pay for extra luggage
on the plane.

The electronic nature of c-readers gives us so much more than a print copy of a book can do.
It lets us read in the dark (handy in case of a power cut). We can look up unfamiliar words in
the in-built dictionary with just one click, we can make notes, and we never forget what page
we were on: the c-reader remembers that for us. If our eyesight declines, we can make the letters
bigger. We can re-read Jane Eyre as often as we like and the book will never look any worse
for it. And even if our taste in books is unusual, nobody need know, others can't see what we
are reading. Not only that, most e-books are cheaper that their print versions, and many older
books can be downloaded for free.

So why have only one in three of us read an e-book? The answer must be that there is
something special about the look, the feel, and maybe even the smell of printed books. "Real’
books are objects that have a past and their physical presence surrounds us with happy
memories.

97- The author seems to believe that.................
1) printed books are here to stay
2) everyone will soon be using e-books only
3) the digital world has totally changed the publishing industry
4) c-books arc difficult to use because they require the use of some extra digital devices

98- What does paragraph 2 mainly discuss?
1) The way e-books have changed people's reading habits
2) The reason why e-books are more fun to read
3) The effects of e-books on human health
4) The advantages of e-books

99- The name "Jane Eyre" in paragraph 2 is most probably ............

1) an author's name 2) a book title
3) an e-reader brand 4) a text that is difficult to understand
100- What does the word "'that" in paragraph 2 refer to?
1) making notes 2) the page we were reading
3) the reading act 4) the meaning of unknown words

@PracticalEnglish99  "Guex! Jlozr b 558 i1 101, KI5 JUE
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All countries that send objects into space find themselves face to face with a serious problem:
space junk. The "junk" includes parts of rockets, unwanted remaining parts from launches, dead
satellites, and other manufactured items that simply stay there in space with no use at all. There
may well be half a million pieces of dangerous waste in orbit. As you might expect, countries
around the world are worried. Many are working on solutions to destroy the detritus.

Japan's space agency has built an electromagnetic tether. This giant steel and aluminum net,
nearly half a mile wide, would orbit in space and attract metallic pieces as it travels. Once full of
waste, the net would fall back into the Earth's atmosphere. The gathered pieces would burn upon
re-entry. If this net idea works, Japan plans to build a much larger one.

A Swiss company proposes a different answer. It is developing a spacecraft that would act as
a huge device to collect harmful debris. Like the Japanese net, the Swiss device would fall back
into Earth's atmosphere, destroying its contents in the process.

93- What is the subject of the passage?
1) A new type of waste
2) Useless solutions to a difficulty
3) Difficulty for future space missions
4) Ways to send objects into space

94- Which of the following has been described in the passage?
1) launches (paragraph 1)
2) orbit (paragraph 1)
3) electromagnetic tether (paragraph 2)
4) re-entry (paragraph 2)

95- The device made by Japan's space agency and that made by a Swiss company are similar
in all of the following features EXCEPT that they ---------------- :

1) collect waste in space

2) look very much alike

3) serve the same purpose

4) are designed to make waste burn on their return to Earth

96- What does the word "one" in paragraph 2 refer to?
1) net 2) idea
3) piece 4) re-entry
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You may think that people are capable of living in a wide range of environments, from the
hot deserts of Africa and the Middle East to the freezing cold of Siberia or Northern Canada.
Being an intelligent species, we worked out how to use fire to keep us warm in cold conditions
and considerably later, air conditioning to keep us cool in hot climates. But there is a wide variety
of organisms capable of living in environments in which no human could survive-the
extremophiles.

Take, for example. Spinoloricus cinzia, a tiny creature, about a millimeter long and looking
a little like a jellyfish. This recently discovered animal is particularly interesting, as it appears to
be capable of living without oxygen and is thus a multi-cellular anaerobe. The cells of most
organisms contain mitochondria, which use oxygen to generate energy, whereas the cells of
Spinoloricus cinzia do not contain mitochondria. Most anaerobes so far discovered are microbes
and use a form of fermentation to gain energy. Some anaerobes will actually die in the presence
of oxygen.

97- What is the main purpose of the passage?
1) To introduce a special type of creature
2) To show the role of fire in human survival
3) To prove the unimportance of oxygen for life
4) To describe newly discovered unfriendly environments

98- Which of the following statements about anaerobic organisms is supported by the passage?
1) They are all discovered and known to us.
2) They can live in a wide range of environments.
3) They have cells all of which have no mitochondria.
4) They are capable of surviving in environments empty of oxygen.

99- What does the word "'which" in paragraph 2 refer to?
1) organisms
2) cells of most organisms
3) mitochondria
4) multi-cellular anaerobe

100- Which of the following reasoning techniques is NOT used in the passage?
1) Describing cause-and-effect relationships
2) Describing the steps in a process
3) Referring to differences
4) Use of examples
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In the early 1990s, many villages turned to solar power in parts of Africa where life was
hard because of the absence of electricity. Perhaps the greatest project of this nature, and one
that is often mentioned, is a Zimbabwean project supported by UNDP through the Global
Environment Facility (GEF). The plan, jointly funded by GEF (57) and Zimbabwe (5400,000),
made use of some 9,000 solar power systems throughout the country to improve living
standards, but also to decrease land degradation and pollution.

Shamva, 70 kilometers from Zimbabwe's capital, Harare, is now one of the best solar-village
models in the country. Fifty-two commercial farming families share systems; there is one
system for every two houses. Each family has two lamps and a connection for a radio or small
television set. The new lighting systems have improved the quality of life for the community.
They have increased study hours for schoolchildren, reduced rural-to-urban migration in the
area, and upgraded health standards by electrifying a local health center.

93- What is the best title for the passage?
1) Shamva's Farmers Share Solar Power Systems
2) Zimbabwean Development Program
3) Future of Solar Power in Africa
4) New Ways to Produce Energy

94- According to the passage, the Zimbabwean project..............
1) has been successful in one particular village
2) has been financially supported by the Zimbabwean government only
3) has influenced the living standards of some rural people in Zimbabwe
4) has a long way to go before its effects can be actually observed in people's life

95- Which of the following is TRUE about Shamya?
1) It did not use to have a local health center,
2) It is the closest village to Zimbabwe's capital
3) Itis located in an area where access to electricity is very difficult
4) It is equipped with some solar systems shared by the families living there.

96- What does the word "They" in paragraph 2 refer to?
1) lamps 2) lighting systems
3) people in Shamva 4) radio and television sets
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Culture shock is a term used to describe the process a person experiences when living
outside his or her culture for a long period of time. Culture shock is a reality to many
international students. When moving to a new culture, international students must deal with a
language that may be unfamiliar, incomprehensible customs and values, and cultural
expectations the students may not be fully aware of. As a result, the students may go through
emotional extremes ranging from excitement with the new culture to depression. | like most
foreign students, had to face the harsh reality of culture shock as | pursued my college career.
But it wasn't an easy process. There's no magic pill or vaccine. To be successful, international
students should become familiar with the process of culture shock, a process that became my
way of feeling at ease with French culture.

97- According to the passage, culture shock is experienced ------------------ :
1) by almost all international students
2) by students not familiar with their own culture
3) specially when foreign students do not know the language of the foreign country
4) because students who start college are not old enough to take care of themselves alone

98- Which of the following statements is TRUE about the author of this passage?
1) He did not have the problem of culture shock
2) It took him a long time to adapt himself to his native culture.
3) He spent at least part of his education for from his homeland.
4) He went to France in order to find a job to pay his education fees.

99- According to the passage, an effect of culture shock is ------------------ :
1) poor language ability
2) excitement with the new culture
3) unfamiliar cultural expectations
4) incomprehensible customs and values

100- The author's purpose of saying, ""There's no magic pill or vaccine™, is to emphasize
the fact that ---------------- :

1) getting over culture shock is not easy and takes time and effort

2) even doctors cannot help the students who suffer from culture shock

3) medical doctors have not yet found a way to help those who are culturally shocked

4) becoming successful in a foreign country becomes a reality only if foreigners work hard
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Language is one of the important abilities of humans which makes humans stand out from
animals, so language loss raises serious questions about our history, our humanity and perhaps
about our future, too. Any study of the history of language shows that languages, like humans,
develop over time. According to some estimates, around 7.000 languages are still spoken in the
world. This number is a sign of the diversity and range of human experience in all around the
world. But not all those languages are equally healthy. In fact, while some languages are healthy
and powerful, others arc in the process of dying and disappearing. In fact, research shows that
languages are dying out very fast. Some believe that by 2100, most of these languages, perhaps
as many as 90% of them, will no longer exist in the spoken medium. If this were plant life. or
whales and dolphins, many people would be worried and ask something to be done to stop this
unlucky process. Yet, surprisingly, there seems to be little interest in this terrible event. What is
lost when a language ceases to exist?

93- What is the subject of the passage?
1) Language loss
2) How languages die out
3) Comparison of modern and old languages
4) The main difference between humans and animals

94- Why does the author make a comparison between languages and humans in the second
sentence, ""Any study of the history of language ...?
1) Because languages are spoken by humans
2) Because both languages and humans have histories
3) Because both languages and humans do not stay the same in the course of time
4) Because when languages are lost, humans lose whatever knowledge and experience they have
collected through them

95- What does the phrase ""these languages' refers to?
1) Healthy and powerful languages
2) The languages that are dying out very fast
3) Those languages that manage to survive by 2100)
4) The 7,000 languages that are still spoken in the world

96- The passage most probably continues with a discussion of ------------------ :
1) the reasons why languages die
2) what to do to prevent languages from going out of existence
3) why people are worried about the gradual death of languages
4) what language loss makes us lose in addition to the language itself
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Some people are shy, which means they feel uncomfortable in the presence of others. If you
suffer from shyness, you are not alone, for there are many people having the same problem.
According to recent research, close to 50 percent of the general population report that they
currently experience some degree of shyness in their lives. In addition, close to 80 percent of
people report having felt shy at some point of their lives. As shyness is so widespread in the
world, it is not surprising that social scientists are learning more about its causes. They have
found that shyness in an individual can result from both biological and environmental factors.

Recent research shows that some people are genetically predisposed to shyness. In other
words, some people say that some people are born shy. Researchers say that between 5 and 20
percent of newborn babies show signs of shyness: they are quieter and more watchful.
Researchers have identified physiological differences between sociable and shy babies that show
up as early as two months. In one study, two-month-olds who were later identified as shy children
reacted with signs of stress when they were shown moving mobiles and tape recordings of
human voices: increased heart rates, jerky movements of arms and legs, and excessive crying.
Further evidence of the genetic basis of shyness is the fact that parents and grandparents of shy
children more often say that they were shy as children than parents and grandparents of non-shy
children.

97- Social scientists have tried to find out about the causes of shyness because -------------- :
1) it is a problem many people suffer from
2) it surely has a mental but not a physical origin
3) previously suggested ways to control it did not work
4) some people who report that they are shy may not really be shy

98- It can be concluded form paragraph 2 that if a person's parents and grandparents are
shy, he -------------meu- :

1) would turn out to be less sociable than they were

2) needs to see a medical doctor immediately

3) has had a difficult childhood

4) is likely to be shy 100

99- The word *"they" in paragraph 2 refers to .............
1) signs of stress
2) two-month-olds
3) shy children in general
4) mobiles and tape recordings of human voices

100- Which of the following statements is TRUE, according to paragraph 2?
1) No one is born shy.
2) There are physiological differences between shy and sociable babies.
3) Shy people are typically quieter but less careful than those who are not shy.
4) Heart rates, jerky movements of arms and legs, and excessive crying are some physiological
causes of shyness.
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It is said that about 40 per cent of the world's population use social media, and many of these
billions of social media users look up to influencers to help them decide what to buy and what
trends to follow. So, what is an influencer and how do we become one?

An influencer is a person who can influence the decisions of their followers because of their
relationship with their audience and their knowledge in a particular area, e.g. fashion, travel or
technology. Influencers often have a large following of people who pay close attention to their
views. They have the power to make people buy things, and influencers are now seen by many
companies as a direct way to customers' hearts. Brands are now asking powerful influencers to
market their products. With some influencers asking for $25,000 for one social media post, it is
no surprise that more and more people are interested in becoming influencers too. If you are one
of them, then here are five tips on how to do it.

First, choose your niche. What is the area that you know most about? What do you feel most
excited talking about? Find the specific area that you're most interested in and develop it. Next,
choose your medium and write an interesting bio. Most influencers these days are bloggers and
micro-bloggers. Decide which medium - such as your own online blog, Instagram or Snapchat-
is the best way to connect with your followers and chat about your niche area. When you have
done that, write an attention - grabbing bio that describes you and your specialty area in an
interesting and unique way. Make sure that people who read your bio will want to follow you.

93- What is the main purpose of paragraph 2?
1) To describe who an influencer is
2) To identify new ways of social media
3) To help influencers do their job better
4) To explain why people follow social media posts

94- It can be understood from the passage that more and more people would like to be
influencers because this way they could ----------------- :

1) have a large number of followers

2) make a considerable amount of money

3) increase their knowledge in different fields

4) help people make the right decisions in their lives

95- According to the passage, what is an influencer’s niche?
1) His / Her followers
2) The companies he/she works for
3) The area in which he/she is knowledgeable
4) His / Her social media posts as an influencer

96- Which of the following is NOT named as a medium in paragraph 3?
1) online blog 2) Instagram 3) Snapchat 4) bio
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At the start of every new year, many of us promise ourselves that a certain number of times a
week we will go to the gym, go jogging, attend an exercise class, etc. But many of us have a hard
time including exercise in our lives, or we start off well and then stop.

The key could he to find the right type of exercise for you. After all, if we end up doing
something we enjoy and can see the positive effects of. we are more likely to do it for longer
than a few weeks Studies suggest that six weeks are all it takes to form a habit, so once we have
managed to continue for that length of time, chances are that exercise has become a routine part
of our lives that we do not question. So what exercise is right for you!

First of all, you need to find out what your goal is. Are you mainly interested in de- stressing
or in getting healthier? If your important goal is relaxation, then ask yourself if you want to do
this energetically, in which case a type of exercise based on boxing may, for example, be right
for you. If you have a calmer style, then you could choose some exercise you can do alone, such
as walking, doing some gardening, or selecting a brisk daily walk around the block. If you get
more interested in working with others, then you could join a tennis, fitness or t'ai chi class. all
designed to stretch and strengthen your muscles and with the added benefit of calming the mind.

97- The passage claims that many of those who promise themselves at the beginning of each
new year that they would start doing some type of exercise ------------------ :

1) never join a sports club

2) fail to keep their promise

3) have not already done any exercise

4) can only exercise several times a week

98 - On the whole, the passage is intended to..............
1) help people choose the right exercise for themselves
2) introduce the positive effects of exercise on people's health
3) explain the reasons why people stop exercising after some time
4) compare and contrast different types of exercise plans with one another

99- The passage mentions all of the following about the effects of joining a t'ai chi class
EXCEPT --------neeoneee- :
1) working with others 2) getting relaxation
3) strengthening your muscles 4) calming the mind

100- According to the passage, doing exercise can become a habit if the person doing it ------------ :
1) has made himself/herself a promise to do so
2) knows about his goal of exercising
3) selects an easy type of exercise
4) goes on doing it for six weeks
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Passage 11 (AA,348 31 zols 92L) 9 @45 - J9l i)

For thousands of years, people have tried to find ways to keep food for longer. In the past,
this was important as people needed to save fresh food for times when it was hard to find, such
as the winter. Today there are still many places without electricity and people living in these
places need to preserve food in ways that don't use refrigerators. They need to make food last
as long as possible.

Drying is the oldest type of food preservation. If water is removed from food, the bacteria
can't grow. In ancient times in hot countries, people simply left fruit and meat outside to dry in
the sun and the wind until all its natural water was gone. This made the fruit last a very long
time. Drying fruit sometimes results in a completely new product. For example, grapes turn into
raisins and plums turn into prunes. Drying food in the sun does not work in cooler or wetter
climates, but people have other methods to preserve food in cold places.

93- The word ""preserve™ in paragraph 1 is closest in meaning to ----------------- :
1) need 2) find 3) last 4) save

94- What is the subject of paragraph 2?
1) How food preservation prevents the growth of bacteria
2) Types of food that can be preserved
3) Importance of food preservation
4) A food preservation technique

95- In paragraph 2, what is the role of the example of **grapes turn into raisins and plums
turn into prunes'?

1) To describe an unusual event

2) To support an earlier statement

3) To describe a food preservation mechanism

4) To emphasize the function of fruit as a food source in the past

96- The passage is most likely to continue with a discussion of ------------------- :
1) different ways used by people in cold regions to prepare food stuff
2) why drying was first used in hot countries
3) some other food preservation methods
4) how people in cold places found food
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Passage 12 (AA )38 3l gyl 90L)y 9 35285 — p9d )

One single person cannot be named as the one responsible for the invention of the cinema. In
fact, lots of people played a part in the development of the cinema. A man called Muybridge
made the first moving picture in 1878. It was a film of a horse running and it was only a few
seconds long. By 1895, other people had invented various machines for showing moving pictures,
but many of these could only be watched by one person at a time. The development of machines
that could project films onto a screen was important. Thomas Edison was one of the first to show
very short films to audiences of 20 or more people. His films showed acrobats performing or
everyday events like a man eating!

At first, films were only a few minutes long. They were black and white and silent. They were
usually documentaries about different places or news events, or comedic showing people falling
over and making funny faces. Later they became longer stories. but there was still no sound.
Instead, there might be a musician playing a piano in the hall while the film was shown.

Musicals were probably the most popular kind of film throughout the 1930s and 1940s. A
very famous actress and singer at that time was Shirley Temple-she was a five-year-old girl
everyone loved watching perform on stage.

97- What question is paragraph 1 mainly intended to answer?
1) Who invented films?
2) What did early films look like?
3) Why were early films short and simple?
4) How long did the cinema take to become popular?

98-The word "'the" in paragraph 2 refers to ---------------- :
1) films 2) documentaries
3) funny faces 4) places or news events, or comedies

99-The passage refers to all of the following as scenes shown in films EXCEPT ------------- :
1) someone singing on stage
2) a man eating some sort of food
3) someone doing acrobatic movements
4) a musician playing a musical instrument

100- Which of the following can be concluded about films in the 1930s and 19405?
1) They were still watched by a few people at a time.
2) They were not only visual but also audio.
3) They still did not have any storyline.
4) They were musicals only.
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